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= 24 3.2 31.1 49.4 14.5 3 1.5 100.0
2E/28¢ .0 100.0 .0 .0 .0 .0 100.0




G2t. A0S 20/0i CHoll ot M= i D0, Cha J=C0H G OfLICH i< otUtHZ

k) 0I=2J1g8S2 MA0 M2 2R &S MK UL

0120140 MIHOI st 2N A5 o2
AHEHOl
g/
e 0 [C4 2% T4 oL | OtLl | o 28 |=22E/2
o] Ct Ct o Cos sy 8
SEstd [fas d ([gastd |gastd |95 d |Ras o |gast o
N % N % N % N % N % N % N %

=2 A 2.6 34.0 793 2.6 8 7 100.0
S Xt 3.7 33.5 47.5 14.2 8 4 100.0
Oi Xt 1.6 34.5 51.1 11.0 8 1.0 100.0
oig 200K 3.6 34.2 47.6 12.4 1.3 9 100.0
E 300K 3.6 29.8 50.8 14.7 8 4 100.0
40CH 1.3 33.9 52.2 12.1 .0 4 100.0
500H 0 24.0 66.0 10.0 .0 0 100.0
60 0] & 2.4 40.2 43.4 1.6 1.2 1.2 100.0
szt =Z0|5} 2.3 45.3 38.4 9.3 2.3 2.3 100.0
E = 1.8 32.5 52.4 11.9 7 5 100.0
CHXH Ol & 3.7 33.7 47.5 14.0 6 6 100.0
JbE 1002+R015H 2.4 47.6 35.7 14.3 .0 0 100.0
%ﬁi 101 ~ 20022 3.5 36.8 43.8 12.4 1.5 2.0 100.0
Z = 20174000 1.9 34.2 52.4 11.0 3 2 100.0
- 401~ 5000+ 2.0 29.6 46.9 20.4 1.0 0 100.0
5010+ 0] 4 1.5 7.7 57.7 19.2 .0 3.8 100.0
nRE/RsY 6.3 25.0 37.5 12.5 12.5 6.3 100.0
e NS 2.3 31.4 46.4 16.8 2.3 9 100.0
& olm/AD| 1.5 33.3 52.1 12.3 8 .0 100.0
2 9.1 36.4 42.4 12.1 .0 .0 100.0
HE/z2/24 1.0 25.5 64.3 9.2 .0 0 100.0
ZE/ES/EY 1.8 27.7 56.3 14.3 .0 0 100.0
tn/z=e 3.6 52.7 37.3 5.5 .0 9 100.0
S/ 2 /AY 4.2 34.9 44.6 13.3 6 2.4 100.0
=4 NE/oE/AD 2.6 34.3 48.7 13.5 9 0 100.0
NS e 1.5 38.8 46.3 11.9 .0 1.5 100.0
HE/zd/z22 1.1 26.9 56.0 12.6 2.3 1.1 100.0
ZE/EY/EE 1.6 33.5 48.6 16.2 .0 0 100.0
tn/z=e 3.4 411 45.2 8.9 .0 1.4 100.0
S/ 2 /AY 4.3 33.0 49.5 1.2 1.1 1.1 100.0
RIZE=/01=/8 2 12.5 37.5 37.5 12.5 .0 .0 100.0
nRE/RsY 0 100.0 0 0 .0 0 100.0
1601 stuete 0/5& 28 25 33.7 50.7 11.0 1.4 6 100.0
e pxg oes 58 1.2 33.7 50.2 13.9 5 5 100.0
W azesg gz 54 25 30.0 425 25.0 0 o 1000
- JIEL 28 3.4 37.9 48.3 10.3 .0 0 100.0
JIARCH 5.0 41.6 39.6 12.9 .0 1.0 100.0
SHA UUS 10.5 21.1 57.9 5.3 2.6 2.6 100.0
npE/Rsg 3.4 34.5 51.7 6.9 .0 3.4 100.0
X g 1.9 34.1 51.7 12.4 .0 0 100.0
8 suere 3.0 33.6 48.8 13.0 1.0 7 100.0
o=y 1.1 34.1 44.0 19.8 1.1 0 100.0
lz=g 8.1 27.0 37.8 27.0 .0 0 100.0
LI 6.7 20.0 60.0 13.3 .0 0 100.0
JIEF .0 44.4 55.6 .0 .0 0 100.0
DNPAR=I= R 2.6 36.4 48.7 8.9 1.5 1.9 100.0
npE/2sg 0 18.2 81.8 0 .0 0 100.0
oy A 28 32.1 51.2 13.2 7 0 100.0
42 =g 2.7 35.1 49.2 1.4 5 1.1 100.0
£ RS 2.3 34.3 48.0 13.4 1.2 9 100.0
2E/22¢ 0 100.0 .0 .0 .0 .0 100.0




G2t. HOEE Z20/0i CHoll ot M= i D0, Cha J=C0H ChA OfLICH i< otUtHZ

m) Lk= EXIAIZI2H0] 2ol THetsS WE0 W 2= swel gas I =0t
HAASISH B2 ED Ast 6L
ALEHO| @
ettE/s
e 02 |C4 2% |[TA ol |HR oLl |2 28 |=2E/9
C C C C z oS EE, 5
SEstd [S58d [REsd (Saetd [958 (258 | S5t #
N % N % N % N % N % N % N %

a2 oA 3.0 24.3 447 26.3 1.0 7 100.0
Xt 2.4 24.3 42.2 29.0 8 1.2 100.0
01 Xt 3.6 24.3 471 23.7 1.2 2 100.0
oigl 2004 2.7 20.4 47.6 27.6 1.3 4 100.0
g 3004 2.4 25.0 41.3 30.2 4 8 100.0
400H 4.0 25.9 43.3 25.9 9 .0 100.0
50CH .0 36.0 42.0 22.0 0 0 100.0
6OMI Ol A 3.6 23.3 47.4 22.5 1.6 1.6 100.0
sttt =Z0|6} 5.8 23.3 40.7 29.1 1.2 .0 100.0
& = 2.5 24.8 47.7 23.0 1.1 9 100.0
CHAH Ol & 2.8 24.2 41.0 30.6 8 6 100.0
JbE 1008+ 0I5 7.1 21.4 45.2 26.2 .0 .0 100.0
%t-i 101 2002+ 3.5 21.9 42.3 29.9 1.0 1.5 100.0
T2 20174002t 2.4 25.6 45.2 25.4 1.0 3 100.0
- 40175000+ .0 26.5 46.9 25.5 .0 1.0 100.0
5010H21 0] At 7.7 19.2 53.8 19.2 0 0 100.0
npE/22S¢ 18.8 6.3 25.0 31.3 12.5 6.3 100.0
e A= 3.2 24.1 40.9 28.6 2.3 9 100.0
e oim/AD| 3.4 33.7 441 17.2 4 11 100.0
2el 9.1 15.2 33.3 42.4 .0 .0 100.0
ha/z=/z24 .0 17.3 75.5 7.1 0 0 100.0
D/ 1.8 23.2 39.3 35.7 .0 .0 100.0
thr/a= 2.7 26.4 40.9 30.0 .0 .0 100.0
S/ 2A/AY 3.6 15.1 41.0 36.7 2.4 1.2 100.0
=4 NE/E/ZD 4.3 28.7 37.0 27.8 1.7 4 100.0
X e 3.0 23.9 41.8 28.4 .0 3.0 100.0
ha/sg/22 .0 22.3 61.7 14.3 6 1.1 100.0
D/ /M 3.2 24.9 411 30.8 .0 .0 100.0
tr/z= 2.7 25.3 43.2 28.8 .0 .0 100.0
S/ 2A/EY 4.3 17.6 44.7 29.8 2.7 1.1 100.0
Hz=/012/6 2l .0 75.0 25.0 .0 .0 .0 100.0
noE/22¢ 0 .0 100.0 .0 .0 .0 100.0
1604 stLiatet 015E =8 2.0 23.2 50.4 22.1 1.4 8 100.0
U oixg 28 58 2.9 26.6 39.8 29.8 1.0 .0 100.0
PN TE eI Y 5.0 15.0 425 37.5 0 0 100.0
- JlEt &8 .0 17.2 65.5 17.2 .0 .0 100.0
JI 2L 7.9 24.8 39.6 25.7 0 2.0 100.0
SEH UYS .0 23.7 44.7 26.3 2.6 2.6 100.0
=RE/2SE 3.4 24.1 44.8 24.1 0 3.4 100.0
X g 5.2 26.2 39.3 28.5 7 .0 100.0
g syt 7 20.6 53.2 24.6 3 7 100.0
oELEY 4.4 19.8 33.0 42.9 0 .0 100.0
RIES= 2.7 32.4 40.5 24.3 .0 .0 100.0
WEIE .0 20.0 66.7 13.3 0 0 100.0
I Ef 11.1 44.4 22.2 22.2 .0 .0 100.0
XXES giC 2.6 27.1 44.2 21.6 2.6 1.9 100.0
zos/28¢ 9.1 9.1 54.5 27.3 .0 .0 100.0
g A= 3.5 25.4 36.2 33.4 7 7 100.0
88 == 4.6 24.5 45.9 23.6 11 3 100.0
= RS 9 23.3 50.6 23.0 1.2 1.2 100.0
oE/22¢ .0 .0 0 100.0 .0 .0 100.0
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GB1.CHS0l SHOEE 2100 CHoll, 75t 2= 0 LHOHE, CiA LIOHE, Cha LA, O LA L=2

SCIXe SEXG JPEO| AN At
OHS LIOF X2 LIOH X2 LIt [0S LIt [Ar S0l [ [HI==8t = [RRE/2
S S ES S 2= | =olt | =g 8
S5 8| 95s d|eas (258 8 (9t ¥ |25 #|e5s #|e5s #
N % N % N % N % N % N % N % N %

S| 7.0 25.4 54.4 6.2 5 25 0] 100.0
SR 1.6 23.3 56.4 16.6 4 1.6 0| 100.0

Ol Xt 4 27.4 52.5 15.8 6 3.4 0| 100.0

o1z 200H 1.3 27.6 53.3 13.8 9 3.1 0| 100.0
g  3omh 1.6 24.6 56.7 13.5 4 3.2 0| 100.0
40CH 4 28.6 54.0 16.5 4 .0 0| 100.0

50CH 0 24.0 54.0 14.0 2.0 6.0 0| 100.0
60AIOI & 8 21.7 53.4 21.3 .0 2.8 0] 100.0

st E=Z0/5t 2.3 18.6 57.0 19.8 .0 2.3 0| 100.0
g 2= 9 25.0 54.6 17.0 5 2.0 0| 100.0
CHAH Ol & 8 27.2 53.9 14.0 6 3.4 0| 100.0

JbE 1002+ 0I5} 2.4 16.7 47.6 31.0 .0 2.4 0] 100.0
%i 10172002+ 1.0 26.4 49.8 20.9 .0 2.0 0| 100.0
Z = 201740008 6 26.3 56.2 13.8 3 2.8 0| 100.0
T 401750002 1.0 22.4 58.2 15.3 2.0 1.0 0| 100.0
5012+210] & 3.8 30.8 38.5 23.1 .0 3.8 0| 100.0
noE/2sg 6.3 12.5 62.5 6.3 6.3 6.3 0| 100.0

et M= 5 19.5 60.9 15.5 9 2.7 0| 100.0
& olz/AD 2.3 21.5 54.4 16.9 1.1 3.8 0| 100.0
2 0 51.5 33.3 6.1 .0 9.1 0| 100.0
Ha/z=2/a2Y 0 9.2 63.3 26.5 .0 1.0 0| 100.0
/M2 /EY 0 37.5 44.6 17.9 .0 .0 0| 100.0
tr/ae 2.7 29.1 52.7 13.6 .0 1.8 0| 100.0
SA/SMH A 0 33.1 52.4 12.7 .0 1.8 0| 100.0

=46 NE2/AE/FED 2.2 22.6 54.8 15.2 1.3 3.9 0| 100.0
PN LT 0 34.3 50.7 75 .0 7.5 0| 100.0
Ha/zd/E= 8 16.0 57.1 24.0 6 1.7 0| 100.0
/MY /= 5 31.4 50.8 16.2 .0 1.1 0| 100.0
tr/ae 2.1 26.0 54.8 15.8 7 7 0| 100.0
SAH/SM A 0 27.7 56.9 12.8 .0 2.7 0] 100.0
HMZ=/01=/61 2 0 37.5 37.5 25.0 .0 0 0| 100.0
np=/esg 0 .0 0] 1000 .0 .0 0| 100.0

1604 &tLteret o132 54 8 22.7 55.8 18.1 6 2.3 0| 100.0
e oixg L2s 58 1.2 25.6 55.4 15.1 2 2.4 0| 100.0
W oizesgagzd 25| 275| 600 100 0 0 0] 100.0
T Jlet B 3.4 13.8 34.5 44.8 .0 3.4 0| 100.0
I 0 32.7 51.5 9.9 1.0 5.0 0| 100.0
SO AAS 2.6 26.3 55.3 10.5 2.6 2.6 0| 100.0
npE/RsY 0 37.9 44.8 17.2 .0 0 0| 100.0

XX Cpieg 7 29.2 54.3 12.0 7 3.0 0| 100.0
3¢ suere 1.3 23.9 56.1 16.3 7 1.7 0| 100.0
lELEE 1.1 29.7 50.5 17.6 .0 1.1 0| 100.0
olzg 0 16.2 62.2 21.6 .0 0 0| 100.0
EIE] 0 13.3 33.3 53.3 .0 .0 0| 100.0

J|E 0 33.3 22.2 33.3 .0 11.1 0| 100.0
XXIHe eirh 1.1 23.8 54.3 16.7 4 3.7 0| 100.0
npE/RsY 0 18.2 72.7 9.1 .0 0 0| 100.0

oy A= 7 26.8 54.0 16.4 3 1.7 0] 100.0
g% =c 1.1 28.8 53.5 12.5 5 3.5 0| 100.0
s g2 1.2 20.6 55.8 20.1 6 1.7 0| 100.0
gE/2sY 0 0 0 0 0| 100.0 0| 100.0
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GB1.CHS0l SHOEE 2100 CHoll, 75t 2= 0 LHOHE, CiA LIOHE, Cha LA, O LA L=2

sr=2o| AR Ats
OHS LIOF X2 LIOH X2 LIt [0S LIt [Ar S0l [ [HI==8t = [RRE/2
S b ES S 2= | =olt | =g 8
S58 ¥ (Ros ¥ (R5s ¥ (Ras H(Ras H(Ras H#(gas (e
N % N % N % N % N % N % N % N %

S| 16 9.8 175 20.6 T 3 T 100.0
X 2.0 10.3 47.7 39.4 0 6 0] 100.0

Ol Xt 1.2 9.3 47.3 41.8 2 0 21 100.0

o1z 200H 1.3 8.4 50.7 39.1 4 .0 0] 100.0
g 3omh 2.0 1.9 44.8 40.5 0 4 41 100.0
40CH 1.8 8.0 46.4 43.3 0 4 0] 100.0

50CH 2.0 2.0 46.0 50.0 0 0 0] 100.0
60AIOI & 1.2 12.0 48.6 37.8 0 4 0] 100.0

st E=Z0/5t 0 8.1 54.7 37.2 0 .0 0] 100.0
g 2= 1.6 9.2 47.0 41.6 0 4 21 100.0
CHAH Ol & 2.0 1.2 46.6 39.6 3 3 0] 100.0

JbE 1002+ 0I5} 0 1.9 42.9 45.2 0 .0 0] 100.0
%i 10172002+ 1.0 9.5 45.8 43.3 0 .0 51 100.0
Z = 20174009 1.9 9.1 49.4 38.9 2 5 0] 100.0
T 40175002+ 1.0 14.3 41.8 42.9 0 .0 0| 100.0
5010H21 0] & 0 1.5 50.0 38.5 0 .0 0| 100.0
no=/22y 6.3 6.3 37.5 50.0 0 0 0| 100.0

et M= 3.2 10.5 41.8 441 5 .0 0| 100.0
& olz/AD 2.3 15.7 44 1 37.2 0 8 0| 100.0
2 3.0 3.0 36.4 57.6 0 .0 0| 100.0
Ha/s2/EY 0 7.1 49.0 43.9 0 .0 0] 100.0
/M2 /EY 0 10.7 64.3 25.0 0 .0 0] 100.0
tr/ae 9 9.1 55.5 34.5 0 0 0| 100.0
SA/SMH A 6 2.4 45.2 50.6 0 6 6| 100.0

=46 NE2/AE/FED 2.2 8.7 45.2 43.0 4 4 0] 100.0
PN LT 3.0 10.4 38.8 46.3 0 1.5 0| 100.0
Ha/zd/E= 1.1 12.0 48.0 38.3 0 0 61 100.0
/MY /= 1.1 12.4 54.1 32.4 0 .0 0] 100.0
tr/ae 7 8.2 50.7 40.4 0 .0 0| 100.0
SAH/SM A 2.1 5.9 45.2 46.3 0 5 0| 100.0
HZ=/01=2/61 2 0 50.0 25.0 25.0 0 0 0] 100.0
np=/esg 0 .0 0] 1000 0 .0 0| 100.0

1604 &tLteret o132 54 1.7 9.6 46.7 41.4 0 6 0] 100.0
e oixg L2s 58 2.2 10.5 47.8 39.0 2 2 0| 100.0
PPN T 0| 150| 450]| 400 0 0 0] 100.0
T Jlet B 0 3.4 48.3 48.3 0 .0 0| 100.0
I 0 6.9 53.5 38.6 0 0 1.0| 100.0
SO AAS 0 10.5 39.5 50.0 0 .0 0| 100.0
npE/RsY 3.4 10.3 44.8 41.4 0 0 0] 100.0

XX Cpieg 2.6 9.0 53.6 33.7 4 7 0| 100.0
3¢ suere 2.3 10.0 442 435 0 .0 0| 100.0
lELEE 0 13.2 38.5 47.3 0 1.1 0| 100.0
olzg 0 21.6 27.0 51.4 0 0 0] 100.0
EIE] 0 6.7 60.0 33.3 0 .0 0| 100.0

J|E 0 11.1 55.6 33.3 0 .0 0] 100.0
XXIHe eirh 7 7.8 49.8 41.3 0 .0 4| 100.0
npE/RsY 0 9.1 54.5 36.4 0 .0 0] 100.0

oy A= 1.0 9.1 49.5 40.1 3 .0 0] 100.0
g% =c 1.9 10.1 48.1 38.9 0 8 3| 100.0
s g2 1.7 10.2 45.3 42.7 0 .0 0] 100.0
gE/2sY 0 0 0| 100.0 0 .0 0] 100.0
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GB1.CIS0l HHEE EI10l CHoH, Aot M= 0 LIOHY, ChA LIOHY, ChA LA, i Lde=2
L0 2&dl '.;}\IE
c) MAH S MEHE ARX AtE
MIH Ol MBHE AT Atst
DS LIOH|X=2 LIOH =2 LIt [N Lit [ar=tol O B3t & |22/
S S fS S 2l o= | =olch sg 8
S5 # |95 |58 (R0 8 (9t ¥ |25 8|95 #|e5s #
N % N % N % N % N % N % N % N %

SIS 1.2 13.4 65.7 6.7 9 6 15| 100.0
SR 1.4 15.4 64.3 16.0 1.0 1.0 8| 100.0

Of Xt 1.0 1.4 67.1 17.4 8 2 22| 100.0

o 200 .0 1.6 67.6 15.6 2.2 1.3 1.8 100.0
g  3omh 2.8 13.5 65.1 17.1 4 4 8| 100.0
40CH A4 15.2 64.3 17.9 .9 4 9| 100.0

50CH 2.0 18.0 66.0 14.0 .0 0 0| 100.0
60AIOI & 1.2 12.4 65.9 16.9 4 4 2.8 | 100.0

st =Z0/5t 1.2 11.6 66.3 15.1 .0 0 58| 100.0
E Nk 1.1 13.0 65.8 17.4 4 9 1.4 100.0
CHIH Ol & 1.4 14.3 65.2 16.3 2.0 3 6| 100.0

JbE 1002+ 0I5} .0 9.5 59.5 23.8 .0 .0 7.1 100.0
%i 101 ~ 2002+ 1.0 14.4 64.7 16.9 5 0 25| 100.0
Z = 201740008 1.6 13.9 65.6 16.2 8 6 1.1 100.0
T 401750002 .0 10.2 70.4 18.4 1.0 0 0| 100.0
5012+210] & .0 7.7 76.9 1.5 3.8 .0 0| 100.0
noE/2sg .0 18.8 50.0 12.5 6.3 12.5 0| 100.0

XN Me 3.2 15.0 55.5 22.3 5 9 2.7 | 100.0
& olz/AD 1.5 16.5 62.5 16.1 1.5 1.1 8 100.0
2 .0 9.1 57.6 33.3 .0 .0 0| 100.0
Ha/zs=/5d .0 6.1 74.5 19.4 .0 0 0| 100.0
/M2 /EY .0 13.4 79.5 7.1 .0 .0 0| 100.0
/a2 9 17.3 74.5 3.6 1.8 0 1.8 100.0
SA/SMH A .0 9.0 65.7 20.5 1.2 6 3.0 100.0

=46 NE2/E/ZED 2.6 18.3 57.0 17.4 2.2 1.3 1.3 100.0
X 2oy 1.5 13.4 62.7 20.9 .0 1.5 0| 100.0
H&/zd/E= 1.1 7.4 70.9 18.3 .0 0 23| 100.0
/MY /= 5 13.0 69.2 16.2 .0 .0 1.1 100.0
/a2 7 16.4 69.2 10.3 1.4 0 2.1 100.0
SA/SMH A 5 10.1 67.0 18.6 1.1 1.1 1.6 100.0
HZ=/012 /612 .0 25.0 62.5 12.5 .0 0 0| 100.0
HQE/RSY 0| 100.0 .0 .0 .0 .0 0| 100.0

1600 StLi2HY 0151 & &4 1.7 12.5 66.6 16.1 1.1 6 1.4 100.0
e oixg L2s 58 1.5 14.6 65.9 15.9 7 2 1.2 100.0
I oizesy A 3 0 50| 650| 275 0 0 25| 100.0
T o s .0 6.9 69.0 241 .0 .0 0| 100.0
J|AFCH .0 15.8 66.3 14.9 .0 1.0 2.0 | 100.0
EDA %S .0 13.2 60.5 15.8 5.3 5.3 0| 100.0
noE/2sg .0 17.2 55.2 20.7 .0 0 6.9 100.0

XX Cpieg 2.2 16.1 65.2 13.9 7 4 15| 100.0
3¢ suere 1.3 12.6 66.1 17.6 1.0 .0 1.3 100.0
RIES .0 11.0 65.9 17.6 3.3 1.1 1.1 100.0
RIES= 2.7 10.8 59.5 24.3 .0 0 27| 100.0

Xtol @ 6.7 .0 66.7 26.7 .0 .0 0| 100.0

J|E .0 1.1 77.8 11.1 .0 0 0| 100.0
XA St .0 14.1 66.2 16.4 4 1.5 15| 100.0
noE/R2Y .0 .0 63.6 27.3 .0 0 9.1 100.0

oy ae 1.0 14.6 65.2 16.4 1.0 7 1.0 100.0
g% =c 1.6 14.7 66.6 13.9 1.4 8 1.1 100.0
= 24 9 11.0 65.4 19.8 3 3 2.3 | 100.0
gE/ReY .0 .0 0| 100.0 .0 0 0| 100.0
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GWI. AdHAME =Xd, X 02l 21l 22 dd|S 3)|EHe=2, g8H

2l SEGHH AIE6teld 22 ADIY & 5 ARdteE A0l EC0 M2H6HY

E2 Sl AR5=I= S0HA RCHD M2ABHAILIDF?
HoIRelo] TR AN AS =
S 0o (AE [ RRE/R

e A [atmgit | E TS = gos | s¢ 8

258 | Ras #|Ras (258 H#(QEt ¥ ([R5 # |25 #|eas #

N % N % N % N % N % N % N % N %

g=E g 57.0 20.3 12.5 4.3 1.4 1.9 6| 100.0
=N 52.9 26.4 12.0 3.9 1.8 2.6 4| 100.0

Of Xt 60.9 18.3 13.0 4.7 1.0 1.2 8| 100.0

otz 2004 54.7 20.4 14.2 5.3 1.8 3.1 4| 100.0
2 3omh 53.6 25.0 12.7 4.0 1.2 2.8 8| 100.0
40CH 55.4 24.6 12.5 4.0 9 1.8 9| 100.0

50CH 62.0 20.0 14.0 2.0 .0 2.0 0| 100.0

6O 0] At 63.1 19.7 10.4 4.4 2.0 0 4| 100.0

st =Z0/6 67.4 18.6 5.8 2.3 3.5 1.2 1.2 100.0
g 1= 57.7 20.4 12.7 4.5 1.1 9 71 100.0
CHXH Ol & 53.9 22.5 13.8 4.5 1.4 3.7 3| 100.0

Db 1002+ 0I5} 64.3 14.3 11.9 .0 2.4 4.8 2.4 | 100.0
%Lci 101 ~ 20002 59.2 20.9 15.4 1.5 1.5 1.5 .0 100.0
Z 220174000+ 56.4 23.8 1.2 5.0 1.1 1.8 6| 100.0
T 401750002 50.0 21.4 14.3 7.1 3.1 3.1 1.0 100.0
5012H2 0] & 65.4 15.4 15.4 3.8 .0 0 0| 100.0
xpz/esy 62.5 18.8 12.5 6.3 .0 .0 0| 100.0

e Me 52.7 20.9 1.4 8.2 3.2 2.3 1.4 100.0
e olm/AHD 51.7 25.3 8.4 8.4 1.5 3.4 1.1 100.0
22 60.6 15.2 24.2 .0 .0 0 0| 100.0
Ha/E2/5Y 51.0 35.7 13.3 .0 .0 .0 0| 100.0
Z=/He/EHE 78.6 15.2 6.3 .0 .0 0 0| 100.0
tr/z= 54.5 20.0 21.8 1.8 9 9 0| 100.0
Sa/SaEE 60.8 19.3 15.7 6 1.2 2.4 0| 100.0

N M2/ /A 45.7 25.2 1.7 10.0 2.2 3.5 1.7 100.0
DN 53.7 22.4 16.4 4.5 .0 1.5 15| 100.0
ha/zg/2= 52.0 32.6 1.4 3.4 .0 6 0| 100.0
T/ 74.6 14.6 5.9 1.6 1.1 1.6 51 100.0
/2= 54.8 22.6 17.1 2.1 2.1 1.4 0| 100.0

LA S A A 61.2 17.0 16.5 2.1 1.1 2.1 0| 100.0
HZ=/01=/602 62.5 0 0 12.5 25.0 .0 0| 100.0
npg/R2d 0] 1000 0 .0 .0 0 0| 100.0

1600 StLietet 01812 2 60.9 19.8 12.7 4.8 1.1 6 0| 100.0
e oixg 28 58 58.5 20.7 10.7 3.9 1.2 2.0 1.0 100.0
W oizcsgaszaqd 45| 275| 225 2.5 2.5 2.5 0] 100.0
T Jlet &8 41.4 37.9 20.7 .0 .0 0 0| 100.0
JIAFCH 48.5 22.8 18.8 2.0 2.0 4.0 20| 100.0
SO YUYS 57.9 21.1 2.6 10.5 2.6 5.3 0| 100.0
np=/esg 51.7 24.1 3.4 10.3 3.4 6.9 0| 100.0

X ga=ey 60.7 22.8 10.9 3.4 4 1.5 4| 100.0
3 sty 59.1 19.6 13.6 5.6 1.0 1.0 0| 100.0
oEL=g 50.5 25.3 13.2 4.4 3.3 3.3 0| 100.0
RIS 56.8 21.6 13.5 2.7 .0 .0 54| 100.0

Xtol 53.3 40.0 6.7 .0 .0 0 0| 100.0

J|E 66.7 22.2 0 11.1 .0 .0 0| 100.0
XX=e gir 52.8 23.8 13.4 3.3 2.6 3.0 1.1 100.0
np=/esg 63.6 0 9.1 18.2 .0 9.1 0| 100.0

oy A= 57.1 22.6 13.2 2.1 2.1 2.4 3| 100.0
€8 =g 59.8 19.6 12.2 4.3 3 2.7 1.1 100.0
s g2 54.1 25.0 11.9 6.1 2.0 6 3| 100.0
pE/2sy 0 0| 1000 .0 .0 .0 0| 100.0
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GB2. HotHAME TS0l HHEEH E

=20 AWM 2SO B oA
M2 2 | HHME 2 | a0 o | Scotd/ | 222/2
A A atoe | xolgls sg e
258 # | R58td | R58 # | 258 | R58 # | 258
N % N % N % N % N % N %

SIS | 541 43.2 18 2 7 100.0
o Xt 54.6 43.4 1.0 2 8 100.0

Of Xt 53.6 43.0 2.6 2 6 100.0

olzr 200 53.3 44.4 1.3 .0 9 100.0
E 300K 53.2 42.9 3.6 4 .0 100.0
40CH 57.6 39.7 1.8 4 4 100.0

50CH 46.0 52.0 .0 .0 2.0 100.0

60AI 0l &t 54.2 43.8 8 .0 1.2 100.0

s =Z0/6t 57.0 40.7 1.2 .0 1.2 100.0
E kS 51.5 46.3 1.4 2 5 100.0
CHIH Ol & 57.3 39.0 2.5 3 8 100.0

JbE 1002+ 0I5} 61.9 33.3 2.4 .0 2.4 100.0
%i 101~ 2000+ 55.7 40.3 3.0 .0 1.0 100.0
T = 20174008t 53.5 44.9 1.5 2 .0 100.0
- 401~ 5000+ 49.0 49.0 1.0 .0 1.0 100.0
5018+210] & 53.8 34.6 .0 .0 1.5 100.0
npz/e2Y 68.8 18.8 6.3 6.3 .0 100.0

e Ae 50.5 45.0 2.7 9 9 100.0
dE  orm/AHD 46.7 48.7 3.1 .0 1.5 100.0
2el 75.8 21.2 3.0 .0 .0 100.0
H&/z=2/52Y 37.8 61.2 1.0 .0 .0 100.0
/M2 /EY 57.1 42.9 .0 .0 .0 100.0
tr/ze 70.9 29.1 .0 .0 .0 100.0
SA/SAAE 62.7 35.5 1.2 .0 .6 100.0

=AM N/ 49.6 46.5 2.6 4 9 100.0
e 2 64.2 32.8 3.0 .0 .0 100.0
H&/Esd/5= 43.4 52.0 2.9 .0 1.7 100.0
DE/EY/EE 55.7 43.8 5 .0 .0 100.0
the/a= 64.4 34.2 7 .0 7 100.0

SAH/ S A 55.9 41.5 1.6 5 5 100.0
HZ=/012 /52 75.0 25.0 .0 .0 .0 100.0
zgE/fsY .0 100.0 .0 .0 .0 100.0

1608 BtL2tY 013& B 52.7 44.5 1.7 .0 1.1 100.0
e gzg o2y sg 53.2 43.9 2.2 2 5 100.0
W ozesg agy s9 60.0 35.0 5.0 0 0 100.0
T Jleee 72.4 27.6 .0 .0 .0 100.0
JI AR 56.4 41.6 .0 1.0 1.0 100.0

SO YUUS 52.6 47.4 .0 .0 .0 100.0
noz/esY 51.7 44.8 3.4 .0 .0 100.0

XX ey 50.6 47.9 1.5 .0 .0 100.0
EL - 54.2 435 1.0 .0 1.3 100.0
olEL =g 54.9 39.6 4.4 .0 1.1 100.0

IES= 59.5 40.5 .0 .0 .0 100.0

Xtol g 73.3 26.7 .0 .0 .0 100.0

J|E} 88.9 1.1 .0 .0 .0 100.0

XX HE S 53.9 42.4 2.6 7 4 100.0
zpE/22Y 63.6 27.3 .0 .0 9.1 100.0

olg A= 53.0 45.3 1.4 3 .0 100.0
g2 =c 53.0 44.0 2.4 .0 5 100.0
= SRS 56.1 40.7 1.5 3 1.5 100.0
FE/RSY 100.0 0 .0 .0 .0 100.0
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GB2. ASIHA= CIS0 2UHEE Z JiX Jtsst Dlci & 20 s SE3H22 M5 LY
E2 FEFEOZ MAGIALIDN?
b) 20| EMECH ZAIROZ IS LdHKs AE
=20 FAIE 2SOl B oA
M2 2 | HHME 2 | a0 o | Scotd/ | 222/2
A A atoe | xolgls sg e
258 # | R58td | R58 # | 258 | R58 # | 258
N % N % N % N % N % N %
SIS | 38.0 57.7 2.6 5 T2 100.0
o Xt 40.2 56.8 1.6 2 1.2 100.0
Of Xt 35.9 58.6 3.6 8 1.2 100.0
olzr 200 33.3 61.3 3.6 9 9 100.0
E 300K 39.7 57.5 2.0 4 4 100.0
40CH 40.2 54.9 3.1 9 9 100.0
50CH 28.0 68.0 .0 .0 4.0 100.0
60AI 0l &t 40.6 55.0 2.4 .0 2.0 100.0
s =Z0/6t 32.6 61.6 2.3 .0 3.5 100.0
E kS 37.4 59.1 2.2 4 9 100.0
CHIH Ol & 39.9 54.8 3.4 8 1.1 100.0
JbE 1002+ 0I5} 26.2 66.7 7.1 .0 .0 100.0
%i 101~ 2000+ 38.8 56.2 3.0 5 1.5 100.0
T = 20174008t 38.2 58.2 2.3 3 1.0 100.0
- 401~ 5000+ 43.9 53.1 2.0 .0 1.0 100.0
5018+210] & 30.8 61.5 .0 .0 7.7 100.0
npz/e2Y 25.0 56.3 6.3 12.5 .0 100.0
e Ae 37.3 55.0 5.0 1.4 1.4 100.0
dE  orm/AHD 41.4 53.3 2.3 4 2.7 100.0
2el 21.2 66.7 6.1 .0 6.1 100.0
H&/z=2/52Y 51.0 44.9 4.1 .0 .0 100.0
/M2 /EY 17.0 83.0 0 .0 .0 100.0
tr/ze 55.5 44.5 .0 .0 .0 100.0
SA/SAAE 31.9 65.7 1.8 .6 .0 100.0
=AM N/ 33.5 60.4 3.5 1.3 1.3 100.0
e 2 35.8 59.7 1.5 .0 3.0 100.0
H&/Esd/5= 45.1 46.9 5.7 .0 2.3 100.0
DE/EY/EE 27.6 70.3 1.6 .0 5 100.0
the/a= 51.4 47.3 7 .0 7 100.0
SAH/ S A 36.2 60.6 1.6 1.1 5 100.0
HZ=/012 /52 62.5 37.5 .0 .0 .0 100.0
zgE/fsY 100.0 0 .0 .0 .0 100.0
1608 BtL2tY 013& B 41.9 54.1 2.3 6 1.1 100.0
e gzg o2y sg 31.7 64.1 2.7 2 1.2 100.0
W ozesg agy s9 40.0 57.5 2.5 0 0 100.0
T Jleee 55.2 41.4 3.4 .0 .0 100.0
JI AR 45.5 50.5 .0 1.0 3.0 100.0
SO YUUS 26.3 65.8 5.3 2.6 .0 100.0
noz/esY 48.3 41.4 10.3 .0 .0 100.0
XX ey 29.6 67.8 2.2 .0 4 100.0
EL - 43.2 52.5 2.0 7 1.7 100.0
olEL =g 48.4 47.3 3.3 .0 1.1 100.0
IES= 29.7 67.6 0 .0 2.7 100.0
Xtol g 73.3 26.7 0 .0 .0 100.0
J|E} 33.3 66.7 .0 .0 .0 100.0
XX HE S 36.1 57.6 3.7 1.1 1.5 100.0
zpE/22Y 45.5 45.5 9.1 .0 .0 100.0
olg A= 30.3 66.2 2.4 7 3 100.0
g2 =c 37.0 57.9 3.3 5 1.4 100.0
= SRS 45.6 50.3 2.0 3 1.7 100.0
FE/RSY .0 100.0 0 .0 .0 100.0
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GB2. HotHAME TS0l HHEEH E

c) |E0I DIZEN SHACZ (o e Fa=s I = &

D220 Mt 920 2 A5
HHZ 2 | HME 2 | a0 0 | Scote/ | 22E/9
M M 2hci2 | xolgls sg 8
58t | R8st | g5 | 955t | 58 | 955
N % N % N % N % N % N %

PSI= I | 52.9 40.3 3.3 2 3.3 100.0
S 54.2 40.4 2.8 2 2.4 100.0
01 Xt 51.7 40.2 3.7 2 4.1 100.0
ozl 200 55.6 37.3 4.0 4 2.7 100.0
E 30CH 59.5 34.9 3.6 4 1.6 100.0
40CH 46.9 47.8 3.1 .0 2.2 100.0
50CH 46.0 42.0 2.0 .0 10.0 100.0
60AI 0l &t 50.6 41.4 2.8 .0 5.2 100.0
st =Z0/5t 44.2 43.0 2.3 .0 10.5 100.0
E = 53.5 40.3 2.7 .0 3.4 100.0
CHIHOl & 53.9 39.9 45 3 1.4 100.0
JbE 1002+ 0I5} 40.5 47.6 4.8 .0 7.1 100.0
%*ci 101~ 20002 443 453 4.0 .0 6.5 100.0
T = 201740082 57.2 37.8 2.8 .0 2.3 100.0
- 401~ 5000+ 50.0 43.9 4.1 1.0 1.0 100.0
5018+210] &t 50.0 42.3 .0 .0 7.7 100.0
npE/22Y 50.0 31.3 12.5 6.3 .0 100.0
e Mg 57.7 31.8 6.8 .0 3.6 100.0
dE  olm/AHD 65.1 28.0 3.8 4 2.7 100.0
2el 72.7 24.2 .0 .0 3.0 100.0
H&/z=2/52Y 38.8 59.2 2.0 .0 .0 100.0
/M2 /EY 39.3 59.8 9 .0 .0 100.0
/3= 56.4 40.9 .0 9 1.8 100.0
SA/SA A 38.6 49.4 3.0 .0 9.0 100.0
=M NE/oE/HD 64.3 27.4 6.1 .0 2.2 100.0
X el 64.2 29.9 1.5 .0 4.5 100.0
H&/E2d/E= 48.0 45.1 46 .0 2.3 100.0
/MY /EE 47.6 47.6 2.2 5 2.2 100.0
/3= 59.6 35.6 1.4 7 2.7 100.0
SA/SA A 40.4 50.5 2.1 .0 6.9 100.0
HZ=/012 /512 37.5 62.5 .0 .0 .0 100.0
zgE/2sY 0 100.0 .0 .0 .0 100.0
1600 B2t 013E B 52.7 39.7 3.1 .0 4.5 100.0
e gzxg o2 sg 52.7 41.2 3.7 2 2.2 100.0
W ozesg gy s9 60.0 32.5 7.5 0 0 100.0
v JIEt B8 31.0 65.5 0 .0 3.4 100.0
JI AR 57.4 34.7 1.0 1.0 5.9 100.0
SO UYS 60.5 34.2 5.3 .0 .0 100.0
zgz/28Y 44.8 48.3 3.4 .0 3.4 100.0
XX g 53.2 41.6 3.7 .0 1.5 100.0
de  suate 52.5 40.5 2.7 .0 4.3 100.0
DIEL S 59.3 31.9 5.5 1.1 2.2 100.0
e = 51.4 48.6 0 .0 .0 100.0
Xtol g 20.0 80.0 0 .0 .0 100.0
J|E} 66.7 33.3 0 .0 .0 100.0
XIXIHE S 52.8 37.9 3.7 4 5.2 100.0
zgz/28Y 45.5 54.5 0 .0 .0 100.0
oy me 54.4 38.3 4.2 7 2.4 100.0
g8 =g 51.4 42.4 2.4 .0 3.8 100.0
= RS 53.2 39.8 3.5 .0 3.5 100.0
gE/RSY 100.0 0 0 .0 .0 100.0
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GB2. HotHAME TS0l HHEEH E

d) Se10] FHEOR XBLCH M Ls Bl 20 Sl A

Solo] I YA 2Ahst
HHZ 2 | HHME 2 | a0 0 | SCote/ | 2E2E/9
M M 2hci2 | xolgls sg 8
58t | R8st | g5 | 955t | 58 | 955
N % N % N % N % N % N %

P I | 56.1 37.5 3.7 4 2.3 100.0
o\ 56.8 37.9 3.2 2 1.8 100.0

01 Xt 55.4 37.1 4.1 6 2.8 100.0

oizr 200 52.9 38.2 5.8 9 2.2 100.0
E 30CH 60.3 34.1 4.0 4 1.2 100.0
40CH 51.8 44.2 3.6 .0 4 100.0

50CH 62.0 30.0 .0 .0 8.0 100.0

60AI 0l &t 57.4 35.7 2.4 4 4.0 100.0

st =Z0/5t 58.1 31.4 1.2 1.2 8.1 100.0
E = 54.6 39.4 3.6 4 2.0 100.0
CHIHOl & 58.1 36.0 4.2 3 1.4 100.0

JbE 1002+ 0I5} 54.8 33.3 4.8 2.4 4.8 100.0
%*ci 101~ 20002 51.7 37.8 45 5 5.5 100.0
T = 201740082 58.8 37.1 2.8 3 1.0 100.0
- 401~ 5000+ 54.1 39.8 4.1 .0 2.0 100.0
5018+210] &t 46.2 46.2 3.8 .0 3.8 100.0
npE/22Y 37.5 31.3 25.0 .0 6.3 100.0

Xe  Me 61.8 30.0 6.4 5 1.4 100.0
dE  o1m/AHD 54.8 37.9 4.2 8 2.3 100.0
2el 87.9 9.1 .0 .0 3.0 100.0
Ha/z=2/52Y 33.7 61.2 5.1 .0 .0 100.0
/M2 /EY 64.3 34.8 9 .0 .0 100.0
thr/ze 59.1 38.2 9 .0 1.8 100.0
SA/SA A 50.0 39.8 3.0 6 6.6 100.0

=M NE/oE/HD 61.7 31.3 5.2 .0 1.7 100.0
X e 71.6 22.4 .0 3.0 3.0 100.0
H&/E2d/E= 44.0 48.0 6.9 .0 1.1 100.0
Z/HY/EE 61.1 36.2 2.2 .0 5 100.0
thr/ze 56.8 37.0 2.7 7 2.7 100.0
SA/SA A 50.0 41.5 2.7 5 5.3 100.0
HZ=/012 /52 37.5 62.5 .0 .0 .0 100.0
zgE/fsY 100.0 0 .0 .0 .0 100.0

1600 B2t 013& B 53.0 39.9 3.1 8 3.1 100.0
e pzxg o2 s8 60.7 34.4 3.7 .0 1.2 100.0
W ozesg gy s9 65.0 27.5 5.0 0 2.5 100.0
v JIEt B8 44.8 51.7 3.4 .0 .0 100.0
JI AR 55.4 36.6 3.0 1.0 4.0 100.0

SO UYS 39.5 50.0 7.9 .0 2.6 100.0
zgz/28Y 51.7 37.9 6.9 .0 3.4 100.0

XX g 65.2 31.5 3.0 .0 4 100.0
de  suare 49.5 435 3.0 1.0 3.0 100.0
DIEL S 60.4 30.8 6.6 .0 2.2 100.0

e = 35.1 64.9 0 .0 .0 100.0

Xtol g 33.3 66.7 0 .0 .0 100.0

J|E} 55.6 44.4 .0 .0 .0 100.0
XIXIHE S 56.9 33.5 5.2 4 4.1 100.0
zgz/28Y 63.6 36.4 .0 .0 .0 100.0

oy me 57.1 35.5 5.6 .0 1.7 100.0
g8 =g 56.0 38.6 2.2 8 2.4 100.0
= RS 55.5 37.8 3.8 3 2.6 100.0
gE/RSY .0 100.0 0 .0 .0 100.0
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GB3. &M s SHMBEOIAIS M= 52 AA0IAI=0] JASLICH
0l &A20IAI=2 S & 2JiIet: S26tX L2 HIst 295 01RE £ ASLICH
RHME=E CHE 400 &L0IAM=IIIF S2ot= ER0= LIHAl 8 i AU0IAI=0] HEAS ;A
OtAtl AHIetSlI| = &LICH HSHAAME 0l48 AMetoll CHoll &-dHalLIr? &2 BHOIGHAIL
S0l AQIO|AL2O] OIAMZ A SIEH Rt
NEON W | SCO | B2E/2
EH B 2= gl sg 8
258 M | 58t | 258 # | 58 | gas # | 58
N % N % N % N % N % N %
g2 g 51.7 39.6 45 2 4.0 100.0
o Xt 52.1 41.8 2.8 2 3.0 100.0
o1 X 51.3 37.5 6.1 2 4.9 100.0
ozt 2004 54.2 37.3 4.0 4 4.0 100.0
E 30CH 48.4 4.7 6.3 4 3.2 100.0
40CH 50.9 40.6 45 .0 4.0 100.0
50CH 48.0 46.0 6.0 .0 .0 100.0
60K 0] &t 54.2 37.3 2.8 .0 5.6 100.0
st =Z0/5 48.8 40.7 47 .0 5.8 100.0
E = 51.9 38.3 4.9 2 4.7 100.0
CHXH Ol & 52.5 41.0 3.9 3 2.2 100.0
JbE 1002+ 0I5} 50.0 35.7 2.4 .0 11.9 100.0
%*él 101~ 20002 48.8 428 45 5 3.5 100.0
Z = 201740002 52.2 40.2 47 2 2.8 100.0
- 401~ 5000+ 60.2 31.6 4.1 .0 4.1 100.0
5012H21 0] & 46.2 42.3 3.8 .0 7.7 100.0
np=/o9g 31.3 31.3 6.3 .0 31.3 100.0
e M2 67.3 22.7 4.1 5 5.5 100.0
e olm/AD| 53.6 31.4 8.8 .0 6.1 100.0
2l 63.6 27.3 3.0 3.0 3.0 100.0
H&/Es2/5Y 29.6 68.4 2.0 .0 .0 100.0
%I/H:/ag 411 58.9 .0 .0 .0 100.0
th=/a 57.3 37.3 45 .0 9 100.0
?&/%&/jag 42.2 48.8 3.0 .0 6.0 100.0
=4 NE/oE/HD 60.4 27.0 6.5 .0 6.1 100.0
e 2o 56.7 34.3 6.0 1.5 1.5 100.0
H&/Esd/5= 411 50.9 5.1 .0 2.9 100.0
DE/EY/EE 49.7 43.2 3.2 .0 3.8 100.0
/2= 53.4 425 3.4 .0 7 100.0
SA/SAEE 47.9 42.0 3.2 5 6.4 100.0
H=/01=/612 87.5 12.5 0 .0 .0 100.0
npE/22Y 100.0 0 0 .0 .0 100.0
1600 BLI2IE 013& &8 56.7 34.6 4.8 .0 4.0 100.0
e gzxg ey s8 50.5 41.0 4.9 2 3.4 100.0
I oixesg gz sw 57.5 40.0 0 0 2.5 100.0
T o ee 20.7 75.9 3.4 .0 .0 100.0
JIAFC 42.6 47.5 4.0 .0 5.9 100.0
SO YUUS 52.6 31.6 5.3 2.6 7.9 100.0
noz/esY 62.1 27.6 3.4 .0 6.9 100.0
XX g 47.6 44.9 5.2 .0 2.2 100.0
€ suerg 55.8 37.2 3.7 3 3.0 100.0
OlEL=g 58.2 37.4 3.3 .0 1.1 100.0
RIES = 54.1 40.5 5.4 .0 .0 100.0
XHol g 26.7 60.0 13.3 .0 .0 100.0
JIEH 44.4 55.6 0 .0 .0 100.0
XRHY 49.8 36.8 4.8 4 8.2 100.0
noz/esY 63.6 18.2 0 .0 18.2 100.0
olg A= 56.1 37.6 3.1 3 2.8 100.0
g8 =c 52.2 37.8 4.6 .0 5.4 100.0
= 24 47.4 43.3 5.5 3 3.5 100.0
FE/RSY 100.0 0 0 .0 .0 100.0
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e
I
2
x
rr
0z
0o
o
=
H
lo

clOF 8Ct) =ZELICH

A =
i =
FISIHAE H4A0IA=S =8 scle A0l CHoll SdotaLN? &2 EHIHGHALIDH?

S0 ALOIQ| AL AL S0} &
NEON M | SCO | EB2E/2
& B 2 = gl sg 8
258 M | 58t | 258 # | 58 | gas # | 58
N % N % N % N % N % N %

g2 g 56.0 201 T4 i 2.4 100.0
X 56.8 39.8 1.6 .0 1.8 100.0

o1 X 55.2 40.4 1.2 2 3.0 100.0

olgd 200 60.4 35.1 2.7 .0 1.8 100.0
E 30CH 58.3 37.7 1.6 .0 2.4 100.0
40CH 58.0 39.7 9 .0 1.3 100.0

50CH 52.0 48.0 0 .0 .0 100.0

60K 0] &t 48.6 45.8 8 4 4.4 100.0

szt =06t 43.0 46.5 2.3 .0 8.1 100.0
E = 53.9 425 9 2 2.5 100.0
CHXH Ol & 62.6 34.6 2.0 .0 8 100.0

JbE 1002+ 0I5} 69.0 19.0 7.1 .0 4.8 100.0
%*él 101~ 20002 55.7 38.3 1.5 5 4.0 100.0
Z = 201740002 53.8 43.1 1.3 .0 1.8 100.0
- 401~ 5000+ 59.2 40.8 0 .0 .0 100.0
501 2H21 0] & 69.2 26.9 0 .0 3.8 100.0
npz/esY 68.8 18.8 0 .0 12.5 100.0

e M2 66.8 30.0 1.8 .0 1.4 100.0
SE= S IFSVE-bl 52.1 40.2 2.7 .0 5.0 100.0
2l 81.8 18.2 0 .0 .0 100.0
H&/Es2/5Y 20.4 79.6 0 .0 .0 100.0

/A E 65.2 34.8 0 .0 .0 100.0
/2= 59.1 40.0 0 .0 9 100.0
SA/SAEE 55.4 38.0 1.8 6 4.2 100.0

=4 NE/o#/HD 62.6 32.2 1.7 .0 3.5 100.0
X 2 61.2 34.3 1.5 .0 3.0 100.0
H&/Esd/52 30.9 64.6 1.7 .0 2.9 100.0
E/EY/EE 65.9 31.4 1.1 .0 1.6 100.0
/2= 57.5 411 0 .0 1.4 100.0
SA/SAEE 58.5 36.7 2.1 5 2.1 100.0
H=/01=/312 62.5 37.5 0 .0 .0 100.0
noE/22Y 0 100.0 0 .0 .0 100.0

1601 stUatY 0l5IE B8 53.3 42.8 1.1 3 2.5 100.0
e gzxg ey s8 59.3 37.3 1.7 .0 1.7 100.0
AN oixesg gz o 67.5 32.5 0 0 0 100.0
T o ee 241 75.9 0 .0 .0 100.0
JIAFC 54.5 40.6 1.0 .0 4.0 100.0

SEHM AYUS 60.5 28.9 5.3 .0 5.3 100.0
noz/esY 58.6 34.5 0 .0 6.9 100.0

XX ey 60.3 37.8 7 .0 1.1 100.0
€ suetg 52.8 43.5 1.0 3 2.3 100.0
I 59.3 35.2 4.4 .0 1.1 100.0

olzgt 62.2 37.8 0 .0 .0 100.0

XHol g 20.0 80.0 0 .0 .0 100.0

JIEH 33.3 66.7 0 .0 .0 100.0
XIXI&e tC 55.0 38.3 1.9 .0 4.8 100.0
noz/esY 81.8 18.2 0 .0 .0 100.0

olg A= 61.7 35.9 1.0 .0 1.4 100.0
g8 =c 59.8 36.4 1.9 .0 1.9 100.0
= 24 47 1 47.7 1.2 3 3.8 100.0
pE/2syY 100.0 0 0 .0 .0 100.0
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GB5. OS2 It Rl HHZEOIAISIS AA0AI=RLE MZ0| FItE= R0l &SI
2 BHOSHLIDE?

Jo

a) o1&
SOl OHE B EO|AIS =J12-00%
N0 | SCHo | 2RE/2
E B 2t o= Cl =gt e
258 # | R58td | R58 # | 258 | R58 # | 258
N % N % N % N % N % N %

SIS | 51.3 43.7 1.3 0 3.7 100.0
o Xt 52.2 441 1.0 .0 2.7 100.0

Of Xt 50.3 43.4 1.7 .0 4.6 100.0

olzr 200 46.6 49.3 1.4 .0 2.7 100.0
E 300K 48.4 45.2 1.9 .0 4.5 100.0
40CH 53.3 43.0 7 .0 3.0 100.0

50CH 57.7 38.5 .0 .0 3.8 100.0

60AI 0l &t 56.3 37.8 1.5 .0 4.4 100.0

s =Z0/6t 56.5 34.8 .0 .0 8.7 100.0
E kS 48.7 45.9 1.9 .0 3.5 100.0
CHIH Ol & 53.6 425 9 .0 3.0 100.0

JbE 1002+ 0I5} 52.9 441 .0 .0 2.9 100.0
%i 101~ 2000+ 55.6 33.9 1.6 .0 8.9 100.0
T = 20174008t 50.7 46.7 1.1 .0 1.4 100.0
- 401~ 5000+ 44.8 51.7 1.7 .0 1.7 100.0
5018+210] & 63.2 31.6 .0 .0 5.3 100.0
npz/e2Y 30.8 38.5 7.7 .0 23.1 100.0

e Ae 53.9 39.6 1.9 .0 4.5 100.0
dE  orm/AHD 51.3 423 1.9 .0 4.5 100.0
2el 40.7 55.6 .0 .0 3.7 100.0
H&/z=2/52Y 30.0 70.0 .0 .0 .0 100.0
/M2 /EY 60.3 39.7 .0 .0 .0 100.0
/3= 59.1 36.4 1.5 .0 3.0 100.0
SA/SAAE 42.7 51.5 1.0 .0 4.9 100.0

=AM N/ 53.2 42.3 6 .0 3.8 100.0
e 2 45.5 52.3 .0 .0 2.3 100.0
H&/Esd/5= 51.6 33.9 3.2 .0 11.3 100.0
DE/EY/EE 55.1 4.7 2.4 .0 8 100.0
the/a= 58.1 37.2 1.2 .0 3.5 100.0

SAH/ S A 42.9 52.9 8 .0 3.4 100.0
HZ=/012 /52 20.0 80.0 .0 .0 .0 100.0
zgE/fsY .0 .0 .0 .0 .0 .0

1608 BtL2tY 013& B 52.5 42.6 1.0 .0 4.0 100.0
e gzg o2y sg 51.0 45 1 1.6 .0 2.3 100.0
W ozesg agy s9 63.0 33.3 0 0 3.7 100.0
T Jleee 57.1 42.9 .0 .0 .0 100.0
JI AR 51.7 43.3 .0 .0 5.0 100.0

SO YUUS 29.6 59.3 3.7 .0 7.4 100.0
noz/esY 52.6 31.6 5.3 .0 10.5 100.0

XX ey 53.6 45.2 6 .0 6 100.0
EL - 51.2 453 6 .0 2.9 100.0
olEL =g 64.4 33.9 .0 .0 1.7 100.0

IES= 56.5 43.5 .0 .0 .0 100.0

XHol3 33.3 66.7 .0 .0 .0 100.0

J|E} 33.3 66.7 .0 .0 .0 100.0

XX HE S 45.8 43.4 2.4 .0 8.4 100.0
zpE/22Y 22.2 44.4 22.2 .0 11.1 100.0

olg A= 56.0 40.8 1.1 .0 2.2 100.0
g2 =c 52.1 42.7 1.7 .0 3.4 100.0
= SRS 45.0 48.3 1.1 .0 5.6 100.0
FE/RSY 100.0 .0 .0 .0 .0 100.0
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GB5. OS2 It Rl HHZEOIAISIS AA0AI=RLE MZ0| FItE= R0l &SI
=2 S LIDH?

b) Ect&
S0 HHBEO|ALS| ZII2-S2E
MW | sCo | 2RE/2
& B 2 o= Gl sg 8
58t | R8st | g5 | 955t | 58 | 955
N % N % N % N % N % N %

P I | 49.4 446 1.3 3 4.3 100.0
o\ 45.8 49.5 1.0 3 3.4 100.0

01 Xt 53.0 39.7 1.7 3 5.3 100.0

oizr 200 45.9 48.6 1.4 7 3.4 100.0
E 30CH 471 45.2 2.5 6 4.5 100.0
40CH 46.7 48.9 7 .0 3.7 100.0

50CH 61.5 34.6 .0 .0 3.8 100.0

60AI 0l &t 56.3 37.0 7 .0 5.9 100.0

st =Z0/5t 60.9 28.3 .0 .0 10.9 100.0
E = 49.7 44.7 1.6 3 3.8 100.0
CHIHOl & 46.8 47.6 1.3 4 3.9 100.0

JbE 1002+ 0I5} 471 471 2.9 .0 2.9 100.0
%*ci 101~ 20002 54.8 35.5 1.6 8 7.3 100.0
T = 201740082 50.1 46.2 9 3 2.6 100.0
- 401~ 5000+ 39.7 55.2 1.7 .0 3.4 100.0
5018+210] &t 42.1 47.4 .0 .0 10.5 100.0
npE/22Y 38.5 30.8 7.7 .0 23.1 100.0

Xe  Me 55.8 35.1 2.6 .0 6.5 100.0
dE  o1m/AHD 41.0 51.3 1.9 6 5.1 100.0
2el 40.7 51.9 .0 .0 7.4 100.0
Ha/z=2/52Y 50.0 50.0 .0 .0 .0 100.0
/M2 /EY 49.3 50.7 .0 .0 .0 100.0
thr/ze 63.6 31.8 1.5 .0 3.0 100.0
SA/SA A 45.6 49.5 .0 1.0 3.9 100.0

=M NE/oE/HD 44.2 48.7 6 6 5.8 100.0
X e 50.0 455 .0 .0 4.5 100.0
H&/E2d/E= 51.6 33.9 4.8 .0 9.7 100.0
Z/HY/EE 52.8 43.3 2.4 .0 1.6 100.0
thr/ze 60.5 36.0 1.2 .0 2.3 100.0
SA/SA A 45.4 49.6 .0 8 4.2 100.0
HZ=/012 /52 .0 100.0 .0 .0 .0 100.0
zgE/fsY .0 .0 .0 .0 .0 .0

1604 stLete 013& B8 54.0 40.1 1.0 .0 5.0 100.0
e pzxg o2 s8 46.7 47.9 1.9 .0 3.5 100.0
W ozesg gy s9 44.4 51.9 0 0 3.7 100.0
v JIEt B8 28.6 71.4 .0 .0 .0 100.0
JIHEBCH 55.0 40.0 .0 .0 5.0 100.0

SO UYS 48.1 40.7 .0 3.7 7.4 100.0
noE/RsY 36.8 47.4 5.3 5.3 5.3 100.0

XX g 56.6 41.0 .0 6 1.8 100.0
de  suare 52.4 42.9 6 .0 4.1 100.0
RIES- 47.5 49.2 1.7 .0 1.7 100.0

RIES= 43.5 56.5 .0 .0 .0 100.0

Xtol g 33.3 66.7 .0 .0 .0 100.0

J|E} 66.7 33.3 .0 .0 .0 100.0
XIXIHE S 42.8 46.4 2.4 6 7.8 100.0
noE/RsY 1.1 44.4 22.2 .0 22.2 100.0

oy me 48.9 47.8 5 5 2.2 100.0
g8 =g 52.6 41.0 2.1 .0 4.3 100.0
= RS 46.1 45.6 1.1 .6 6.7 100.0
gE/RSY .0 100.0 0 .0 .0 100.0
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GBS5. ThE2 =J1Jt |

SEOIALE

Jo

HA0IMI2Z MZ0I FItel= A0 &A3HALIDH?
g oted LI t?

c) <
S0l OH B A Q)
ArsH0f M 2=2/2

& HCH 2 o= sg 8

S5t s | a5 3 £l g8t 8 | a5 3

N % % N % N % N %

PSI= I | 771 24.0 1.3 2 3.3 100.0
S 68.4 27.9 1.0 .0 2.7 100.0

01 Xt 73.8 20.2 1.7 3 4.0 100.0

ozl 200 67.8 28.1 7 .0 3.4 100.0
E 30CH 68.8 24.8 2.5 .0 3.8 100.0
40CH 73.3 23.0 7 7 2.2 100.0

50CH 73.1 23.1 .0 .0 3.8 100.0

60AI 0l &t 74.8 20.0 1.5 .0 3.7 100.0

st =Z0/5t 73.9 19.6 .0 .0 6.5 100.0
E = 73.6 20.8 2.2 .0 3.5 100.0
CHIHOl & 67.0 29.6 4 4 2.6 100.0

JbE 1002+ 0I5} 73.5 20.6 2.9 .0 2.9 100.0
%*ci 101~ 20002 73.4 20.2 8 .0 5.6 100.0
T = 201740082 71.8 25.1 1.4 3 1.4 100.0
- 401~ 5000+ 67.2 29.3 1.7 .0 1.7 100.0
5018+210] &t 63.2 26.3 .0 .0 10.5 100.0
npE/22Y 53.8 15.4 .0 .0 30.8 100.0

e M2 68.8 22.1 3.2 6 5.2 100.0
dE  olm/AHD 73.1 22.4 6 .0 3.8 100.0
2el 77.8 22.2 .0 .0 .0 100.0
H&/z=2/52Y 65.0 30.0 5.0 .0 .0 100.0
/M2 /EY 76.7 23.3 .0 .0 .0 100.0
thr/ze 69.7 25.8 1.5 .0 3.0 100.0
SA/SA A 68.0 28.2 .0 .0 3.9 100.0

=M NE/oE/HD 69.9 24.4 .0 6 5.1 100.0
X 2pe 65.9 31.8 .0 .0 2.3 100.0
H&/E2d/E= 72.6 12.9 6.5 .0 8.1 100.0
/MY /EE 77.2 19.7 3.1 .0 .0 100.0
thr/ze 70.9 26.7 .0 .0 2.3 100.0
SA/SA A 67.2 29.4 .0 .0 3.4 100.0
HZ=/012 /512 80.0 20.0 .0 .0 .0 100.0
zgE/2sY 0 0 .0 .0 .0 .0

1600 BtLI2IS 0131% = 75.2 19.8 1.0 .0 4.0 100.0
e gzxg o2 sg 70.4 24.5 2.3 4 2.3 100.0
AN ozesg agz 59.3 40.7 0 0 0 100.0
v JIEt B8 71.4 28.6 .0 .0 .0 100.0
JI AR 68.3 26.7 .0 .0 5.0 100.0
SO UYS 70.4 22.2 .0 .0 7.4 100.0
zgz/28Y 63.2 31.6 .0 .0 5.3 100.0

XX g 741 23.5 1.2 6 6 100.0
de  suate 73.5 22.9 6 .0 2.9 100.0
DIEL S 61.0 37.3 1.7 .0 .0 100.0

e = 87.0 13.0 .0 .0 .0 100.0

Xtol g 100.0 .0 .0 .0 .0 100.0

J|E} 66.7 33.3 .0 .0 .0 100.0
XIXIHE S 68.1 22.9 1.8 .0 7.2 100.0
zgz/28Y 44.4 22.2 1.1 .0 22.2 100.0

oy me 68.5 28.8 1.1 .0 1.6 100.0
g8 =g 70.9 23.5 1.3 4 3.8 100.0
e 24 73.9 20.0 1.7 .0 4.4 100.0
gE/RSY 100.0 .0 .0 .0 .0 100.0
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GB5. OS2 It Rl HHZEOIAISIS AA0AI=RLE MZ0| FItE= R0l &SI
2 BHOSHLIDE?

Jo

d) =
SOl OHE B EQO|AS EJ1=2-u=
MW | sCo | 2RE/2
& B 2 o= Gl sg 8
58t | R8st | g5 | 955t | 58 | 955
N % N % N % N % N % N %

PSI= I | 43.2 53.6 7 0 2.5 100.0
S 411 56.6 3 .0 2.0 100.0

01 Xt 45.4 50.7 1.0 .0 3.0 100.0

ozl 200 47.3 50.7 7 .0 1.4 100.0
E 30CH 40.1 54.8 1.3 .0 3.8 100.0
40CH 40.0 58.5 .0 .0 1.5 100.0

50CH 30.8 65.4 .0 .0 3.8 100.0

60AI 0l &t 48.1 48.1 7 .0 3.0 100.0

st =Z0/5t 50.0 43.5 .0 .0 6.5 100.0
E = 44.0 52.5 9 .0 2.5 100.0
CHIHOl & 40.3 57.5 4 .0 1.7 100.0

JbE 1002+ 0I5} 41.2 55.9 .0 .0 2.9 100.0
%*ci 101~ 20002 54.8 40.3 .0 .0 4.8 100.0
T = 201740082 36.8 61.5 6 .0 1.1 100.0
- 401~ 5000+ 56.9 39.7 1.7 .0 1.7 100.0
5018+210] &t 52.6 42.1 .0 .0 5.3 100.0
npE/22Y 38.5 38.5 7.7 .0 15.4 100.0

e M2 43.5 52.6 6 .0 3.2 100.0
dE  olm/AHD 38.5 57.1 1.9 .0 2.6 100.0
2el 40.7 59.3 .0 .0 .0 100.0
H&/z=2/52Y 10.0 90.0 .0 .0 .0 100.0
/M2 /EY 58.9 411 .0 .0 .0 100.0
thr/ze 53.0 43.9 .0 .0 3.0 100.0
SA/SA A 39.8 56.3 .0 .0 3.9 100.0

=M NE/oE/HD 35.9 60.9 6 .0 2.6 100.0
X 2pe 455 52.3 .0 .0 2.3 100.0
H&/E2d/E= 41.9 50.0 1.6 .0 6.5 100.0
/MY /EE 52.0 46.5 1.6 .0 .0 100.0
thr/ze 48.8 48.8 .0 .0 2.3 100.0
SA/SA A 38.7 58.0 .0 .0 3.4 100.0
HZ=/012 /512 60.0 40.0 .0 .0 .0 100.0
zgE/2sY 0 0 .0 .0 .0 .0

1600 B2t 013E B 42.6 54.5 5 .0 2.5 100.0
e gzxg o2 sg 44.7 52.1 8 .0 2.3 100.0
W ozesg gy s9 44.4 55.6 0 0 0 100.0
v JIEt B8 28.6 71.4 .0 .0 100.0
JIHEBCH 35.0 61.7 .0 .0 100.0

SHH AAUS 63.0 29.6 .0 .0 100.0
zgz/28Y 31.6 63.2 5.3 .0 . 100.0

XX g 48.2 50.6 6 .0 6 100.0
de  suate 44.7 53.5 .0 .0 8 100.0
DIEL S 33.9 66.1 .0 .0 .0 100.0

e = 52.2 47.8 .0 .0 .0 100.0

Xtol g 0 100.0 .0 .0 .0 100.0

J|E} 66.7 33.3 .0 .0 .0 100.0
XX eirh 39.8 53.0 6 .0 6.6 100.0
zgz/28Y 33.3 44.4 22.2 .0 .0 100.0

oy me 43.5 54.9 .0 .0 1.6 100.0
g8 =g 44.4 51.3 1.3 .0 3.0 100.0
= RS 411 55.6 6 .0 2.8 100.0
gE/RSY 100.0 0 .0 .0 .0 100.0
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GB5. TIS9 =101 |/d otEBEQOIAISIC AAOAIZCZ MZ0| FIIE= A0l &AsHALID?
=2 BHoHA LI DF?
e) 0tZeI 2=
SOl OFE B EO|ALS] EI2-L0IT2| 9252
MW | sCo | 2RE/2
& B 2 o= Gl sg 8
58t | R8st | g5 | 955t | 58 | 955
N % N % N % N % N % N %

PSI= I | 43.7 50.4 7.2 0 4.7 100.0
S 41.8 52.9 1.0 .0 4.4 100.0

01 Xt 45.7 48.0 1.3 .0 5.0 100.0

ozl 200 45.2 47.9 1.4 .0 5.5 100.0
E 30CH 42.7 51.0 1.9 .0 4.5 100.0
40CH 38.5 57.0 7 .0 3.7 100.0

50CH 50.0 46.2 .0 .0 3.8 100.0

60AI 0l &t 47.4 46.7 7 .0 5.2 100.0

st =Z0/5t 54.3 37.0 .0 .0 8.7 100.0
E = 42.8 50.9 1.3 .0 5.0 100.0
CHIHOl & 425 52.8 1.3 .0 3.4 100.0

JbE 1002+ 0I5} 471 471 .0 .0 5.9 100.0
%*ci 101~ 20002 50.0 411 1.6 .0 7.3 100.0
T = 201740082 40.7 55.3 1.1 .0 2.8 100.0
- 401~ 5000+ 41.4 53.4 1.7 .0 3.4 100.0
5018+210] &t 63.2 31.6 .0 .0 5.3 100.0
npE/22Y 38.5 30.8 .0 .0 30. 100.0

e Me 55.2 35.7 2.6 .0 6.5 100.0
dE  olm/AHD 34.0 59.6 1.3 .0 5.1 100.0
2el 48.1 48.1 .0 .0 3.7 100.0
H&/z=2/52Y 20.0 80.0 .0 .0 .0 100.0
/M2 /EY 37.0 63.0 .0 .0 .0 100.0
thr/ze 57.6 36.4 1.5 .0 4.5 100.0
SA/SA A 40.8 53.4 .0 .0 5.8 100.0

=M NE/oE/HD 46.2 46.8 6 .0 6.4 100.0
X 2pe 455 52.3 .0 .0 2.3 100.0
H&/E2d/E= 41.9 45.2 4.8 .0 8.1 100.0
/MY /EE 39.4 57.5 1.6 .0 1.6 100.0
thr/ze 54.7 40.7 1.2 .0 3.5 100.0
SA/SA A 37.8 56.3 .0 .0 5.9 100.0
HZ=/012 /512 40.0 60.0 .0 .0 .0 100.0
zgE/2sY 0 0 .0 .0 .0 .0

1600 B2t 013E B 441 51.5 1.0 .0 3.5 100.0
e gzxg o2 sg 43.2 50.6 1.6 .0 4.7 100.0
W ozesg gy s9 37.0 59.3 3.7 0 0 100.0
v JIEt B8 42.9 57.1 .0 .0 .0 100.0
JIHEBCH 55.0 40.0 .0 .0 5.0 100.0

SO UYS 37.0 48.1 .0 .0 14.8 100.0
zgz/28Y 31.6 57.9 .0 .0 10.5 100.0

XX g 46.4 51.8 .0 .0 1.8 100.0
de  suate 44.7 51.8 6 .0 2.9 100.0
DIEL S 49.2 441 3.4 .0 3.4 100.0

e = 47.8 52.2 .0 .0 .0 100.0

Xtol g .0 100.0 .0 .0 .0 100.0

J|E} 33.3 66.7 .0 .0 .0 100.0
XIXIHE S 39.8 48.8 1.8 .0 9.6 100.0
zgz/28Y 22.2 44.4 1.1 .0 22.2 100.0

oy me 47.3 47.8 1.1 .0 3.8 100.0
g8 =g 44.0 50.4 1.3 .0 4.3 100.0
= RS 39.4 53.3 1.1 .0 6.1 100.0
gE/RSY 100.0 .0 .0 .0 .0 100.0
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GWSBA. |2 & 2 JIX HEEH2 1 S0 AUSLICH
HotHA= Cr32 HE ot CHoll &ASHALIDF? =8 YHHSH LD
a) 2 2019 L4 &3 WEE 2 =19 =221 A&stH
S0l iSO HANWE-R0 (T 20IHE
N0 | SCHo | 2RE/2
E B 2t o= Cl sg e
258 # | R58td | R58 # | 258 | R58 # | 258
N % N % N % N % N % N %

SIS | 59.1 36.8 2.1 i 1.9 100.0
o Xt 57.6 38.9 2.0 .0 1.4 100.0

Of Xt 60.6 34.7 2.2 2 2.4 100.0

olzr 200 61.8 34.7 1.8 4 1.3 100.0
E 300K 60.7 34.9 2.8 .0 1.6 100.0
40CH 62.1 34.8 1.3 .0 1.8 100.0

50CH 48.0 46.0 2.0 .0 4.0 100.0

60AI 0l &t 54.6 40.6 2.4 .0 2.4 100.0

s =Z0/6t 55.8 36.0 2.3 .0 5.8 100.0
E kS 59.1 36.3 2.4 2 2.0 100.0
CHIH Ol & 59.8 37.6 1.7 .0 8 100.0

JbE 1002+ 0I5} 45.2 42.9 4.8 2.4 4.8 100.0
%i 101~ 2000+ 58.7 35.8 2.5 .0 3.0 100.0
T = 20174008t 62.6 34.5 1.6 .0 1.3 100.0
- 401~ 5000+ 49.0 49.0 1.0 .0 1.0 100.0
5018+210] & 42.3 50.0 3.8 .0 3.8 100.0
npz/e2Y 56.3 25.0 12.5 .0 6.3 100.0

e Ae 61.4 32.7 3.6 .0 2.3 100.0
dE  orm/AHD 63.2 31.4 2.7 4 2.3 100.0
2el 42.4 54.5 .0 .0 3.0 100.0
H&/z=2/52Y 55.1 43.9 1.0 .0 .0 100.0
/M2 /EY 67.0 33.0 .0 .0 .0 100.0
/3= 66.4 31.8 1.8 .0 .0 100.0
SA/SAAE 45.2 48.8 1.8 .0 4.2 100.0

=AM N/ 60.9 33.5 3.0 .0 2.6 100.0
e 2 52.2 43.3 1.5 1.5 1.5 100.0
H&/Esd/5= 58.3 37.1 1.7 .0 2.9 100.0
DE/EY/EE 65.4 33.0 1.1 .0 5 100.0
the/a= 62.3 34.2 3.4 .0 .0 100.0

SAH/ S A 51.1 441 1.6 .0 3.2 100.0
HZ=/012 /52 75.0 25.0 .0 .0 .0 100.0
zgE/fsY .0 100.0 .0 .0 .0 100.0

1608 BtL2tY 013& B 54.1 40.5 2.8 .0 2.5 100.0
e gzg o2y sg 62.2 34.9 1.7 .0 1.2 100.0
W ozesg agy s9 52.5 42.5 2.5 0 2.5 100.0
T Jleee 65.5 34.5 .0 .0 .0 100.0
JI AR 62.4 32.7 1.0 1.0 3.0 100.0

SO YUUS 60.5 34.2 2.6 .0 2.6 100.0
zgE/sY 65.5 31.0 3.4 .0 .0 100.0

XX ey 63.7 34.5 1.1 .0 7 100.0
EL - 58.1 36.5 3.0 .0 2.3 100.0
olEL =g 58.2 39.6 1.1 .0 1.1 100.0

IES= 56.8 43.2 .0 .0 .0 100.0

XHol3 80.0 20.0 .0 .0 .0 100.0

J|E} 55.6 44.4 .0 .0 .0 100.0

XX HE S 54.3 39.0 3.0 4 3.3 100.0
zpE/22Y 81.8 18.2 .0 .0 .0 100.0

olg A= 59.6 38.0 1.0 .0 1.4 100.0
g2 =c 62.0 32.3 3.3 3 2.2 100.0
= SRS 55.8 40.4 1.7 .0 2.0 100.0
FE/RSY .0 100.0 .0 .0 .0 100.0
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GWBA. Rdl2 &M 2 JiXl JHEHPE 1 S0l JASLICH

FIotH A= CHS2 N0l Choll &&otdLID? S2 UG LI

b) X229 KUES= 5122 M2 A (HESO| EXoHl UCH
ot g2 3= 20150 &E A6 HEZ RS RAUI9I|E 251 RUES|I2F SS
S0l SO AW E-3|2A2 A0IHE Q05| Mo
N0 | SCho | 2RE/2
A A B 2t o= gl sg
S5t | Ssstd | 9sstd | S5t | 958
N % N % N % N % N %
P B | 62.1 33.3 1.3 2 3.1
SO\ 62.3 34.5 1.4 2 1.6
01 Xt 61.9 32.1 1.2 2 4.5
olzr 200 62.7 32.9 1.3 9 2.2
E 30CH 66.7 31.3 4 .0 1.6
40CH 60.7 34.8 1.8 .0 2.7
50CH 58.0 30.0 2.0 .0 10.0
60AI Ol &t 59.0 34.9 1.6 .0 4.4
st =Z0/5 55.8 32.6 1.2 .0 10.5
£ nkES 62.9 32.9 1.3 2 2.7
CHIHOI & 62.6 33.7 1.4 3 2.0
JbE 10090 B 66.7 23.8 2.4 .0 7.1
%Eol 101~ 20002 62.7 32.3 .0 .0 5.0
T = 20174008t 61.9 33.7 1.6 3 2.4
- 401~ 5000+ 63.3 35.7 1.0 .0 .0
501821 0] A 57.7 38.5 .0 .0 3.8
zgz/28Y 50.0 31.3 6.3 .0 12.5
X A= 66.4 25.0 3.2 9 4.5
e olx/AD| 60.9 34.9 1.5 .0 2.7
el 78.8 21.2 .0 .0 .0
H&/E=2/52Y 58.2 41.8 .0 .0 .0
ZE/FE/EY 67.0 33.0 .0 .0 .0
/2= 65.5 34.5 .0 .0 .0
SA/SAEE 51.8 38.6 1.2 .0 8.4
=4 NE/oE/HD 63.9 30.0 2.2 9 3.0
X 2 70.1 25.4 1.5 .0 3.0
H&/Ed/E5= 59.4 36.6 1.1 .0 2.9
/MY /HE 67.6 30.3 5 .0 1.6
r/ze 66.4 31.5 7 .0 1.4
SA/SA A 51.6 40.4 1.6 .0 6.4
HMz=/012/62 37.5 62.5 .0 .0 .0
zgz/esY 100.0 .0 .0 .0 .0
stLiote 0131& =2 57.2 36.3 2.3 .0 4.2
lxEgy L2858 64.9 31.5 1.2 2 2.2
OELEY AU 58 55.0 37.5 .0 2.5 5.0
JIEt B8 79.3 20.7 .0 .0 .0
JI AR 61.4 35.6 .0 .0 3.0
SO YUY 65.8 31.6 .0 .0 2.6
zgz/esY 70.4 24.1 .0 .0 3.4
dpie|g 67.0 30.3 A 4 1.9
stitete 57.8 36.5 1.7 .0 4.0
DIEL S 70.3 25.3 .0 1.1 3.3
IES= 56.8 43.2 .0 .0 .0
Xrol@ 86.7 13.3 .0 .0 .0
JIEH 66.7 33.3 .0 .0 .0
XRHY 57.2 36.1 2.6 .0 4.1
zgE/fsY 90.9 9.1 .0 .0 .0
g  AE 65.9 31.7 3 3 1.7
42 == 61.1 33.2 2.2 .0 3.5
= SRS 59.9 34.9 1.2 3 3.8
gE/RSY 100.0 0 .0 .0 .0
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GWSBA. |2 & 2 JIX HEEH2 1 S0 AUSLICH
HotHA= Cr32 HE ot CHoll &ASHALIDF? =8 YHHSH LD
c) MEXXSE0 Ol 8, ARSI, =sSZ8, 121 ZHHHSHHZ
SO HMAXM N ZEH(| CHet HetE BAIMCZ 2HSH
SOl SO AE S-S XS XS CHR 0 S 00| 52 0f
NEON W | SCO | B2E/2
EH B 2= gl sg 8
258 M | 58t | 258 # | 58 | Ras # | 58
N % N % N % N % N % N %

g2 g 60.7 35.1 15 2 2.5 100.0
X 58.4 39.1 1.0 2 1.2 100.0
o1 X 62.9 31.2 2.0 2 3.7 100.0
olgd 200 58.7 38.2 1.3 4 1.3 100.0
E 30CH 61.5 35.7 1.2 .0 1.6 100.0
40CH 62.1 34.4 1.8 .0 1.8 100.0
50CH 50.0 40.0 2.0 .0 8.0 100.0
60K 0] &t 62.7 31.3 1.6 4 4.0 100.0
st =Z0/5 64.0 25.6 2.3 .0 8.1 100.0
E = 59.3 36.7 1.3 2 2.5 100.0
CHIH Ol & 62.1 34.8 1.7 3 1.1 100.0
JbE 1002+ 0I5} 69.0 23.8 2.4 .0 4.8 100.0
%*él 101~ 20002 63.2 31.8 1.0 .0 4.0 100.0
Z = 201740002 58.8 37.6 1.6 2 1.8 100.0
- 401~ 5000+ 61.2 36.7 1.0 .0 1.0 100.0
5012H21 0] & 65.4 26.9 0 3.8 3.8 100.0
noz/esY 68.8 12.5 6.3 .0 12.5 100.0
e M2 59.5 33.6 3.6 .0 3.2 100.0
e olm/AD| 57.5 38.3 1.5 4 2.3 100.0
2l 57.6 39.4 0 .0 3.0 100.0
H&/Es2/5Y 52.0 46.9 1.0 .0 .0 100.0
DE/E2/EY 83.9 16.1 0 .0 .0 100.0
/2= 61.8 38.2 0 .0 .0 100.0
SA/SAEE 56.6 34.9 1.2 6 6.6 100.0
=N ME/QF/ED 56.1 38.3 3.0 4 2.2 100.0
e 2o 55.2 43.3 0 .0 1.5 100.0
H&/Esd/5= 57.1 38.3 1.1 .0 3.4 100.0
DE/EY/EE 74.1 24.9 5 .0 5 100.0
/2= 63.0 34.2 1.4 .0 1.4 100.0
SA/SAEE 55.9 36.7 1.6 5 5.3 100.0
H=/01=/312 87.5 12.5 0 .0 .0 100.0
npE/22Y 0 100.0 0 .0 .0 100.0
1601 stUatY 0l5IE B8 56.4 36.3 2.3 3 4.8 100.0
e gzxg ey s8 64.1 33.2 1.5 2 1.0 100.0
AN oixesg gz sw 60.0 40.0 0 0 0 100.0
T o ee 82.8 17.2 0 .0 .0 100.0
JIAFC 56.4 39.6 1.0 .0 3.0 100.0
SEHM AYUS 60.5 36.8 0 .0 2.6 100.0
noz/e2Y 58.6 41.4 0 .0 .0 100.0
XX g 65.9 32.2 1.5 .0 4 100.0
€ suerg 59.5 33.9 1.7 3 4.7 100.0
I 62.6 35.2 1.1 .0 1.1 100.0
RIS = 56.8 43.2 0 .0 .0 100.0
Xrol@ 80.0 20.0 0 .0 .0 100.0
JIEH 77.8 22.2 0 .0 .0 100.0
XIXIHe AC 54.3 40.1 1.9 4 3.3 100.0
noz/esY 81.8 18.2 0 .0 .0 100.0
olg A= 63.1 35.2 0 7 1.0 100.0
g8 =c 59.8 35.6 2.4 .0 2.2 100.0
= 24 59.9 34.3 1.7 .0 4.1 100.0
pE/2syY .0 100.0 0 .0 .0 100.0
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GB6. HdIMA= TSS9 Lictlt 2HIIFE0] 2HECZ Az 23S ga2 00X

H2BHALIDN? E2 UMz 28E0 &S 0IX12 JACHD 2SI LD

a) 5=
IHE IEHN Ast-=2
Az 2 | oMz = | azo o nDE/2

M M 2l o2 | ooty sg 8
58t | R8st | g5 | 955t | 58 | 955

N % N % N % N % N % N %
P I | 48.6 46.7 3.3 2 T2 100.0
o\ 47.9 471 4.1 2 8 100.0
01 Xt 49.3 46.4 2.6 2 1.6 100.0
oizr 200 48.0 46.7 3.6 .0 1.8 100.0
E 30CH 47.6 47.6 4.0 .0 8 100.0
40CH 50.0 47.3 1.8 4 4 100.0
50CH 44.0 50.0 6.0 .0 .0 100.0
60AI 0l &t 49.8 44.6 3.2 4 2.0 100.0
st =Z0/5t 53.5 36.0 3.5 1.2 5.8 100.0
E = 48.6 47.4 3.3 2 5 100.0
CHIHOl & 47.2 48.3 3.4 .0 1.1 100.0
JbE 1002+ 0I5} 52.4 42.9 2.4 2.4 .0 100.0
%*ci 101~ 20002 57.2 34.8 5.5 .0 2.5 100.0
T = 201740082 47.2 49.3 2.9 2 5 100.0
- 401~ 5000+ 42.9 54.1 2.0 .0 1.0 100.0
5018+210] &t 30.8 65.4 .0 .0 3.8 100.0
npE/22Y 50.0 31.3 6.3 .0 12.5 100.0
e M2 42.7 50.0 5.0 .0 2.3 100.0
dE  o1m/AHD 425 50.2 5.4 .0 1.9 100.0
2el 69.7 30.3 .0 .0 .0 100.0
Ha/z=2/52Y 34.7 64.3 1.0 .0 .0 100.0
/M2 /EY 54.5 45.5 .0 .0 .0 100.0
thr/ze 66.4 30.0 2.7 9 .0 100.0
SA/SA A 54.2 41.6 2.4 6 1.2 100.0
=M NE/oE/HD 42.2 50.9 5.7 .0 1.3 100.0
X e 50.7 43.3 3.0 .0 3.0 100.0
H&/E2d/E= 39.4 57.1 3.4 .0 .0 100.0
Z/HY/EE 51.9 44.3 1.1 5 2.2 100.0
thr/ze 62.3 34.9 2.1 7 .0 100.0
SA/SA A 49.5 45.2 3.7 .0 1.6 100.0
HZ=/012 /52 75.0 25.0 .0 .0 .0 100.0
zgE/fsY .0 100.0 .0 .0 .0 100.0
1604 stLete 013& B8 47.9 46.5 3.7 3 1.7 100.0
e pzxg o2 s8 47.8 48.5 2.7 2 7 100.0
W ozesg gy s9 60.0 37.5 2.5 0 0 100.0
v JIEt B8 48.3 51.7 .0 .0 .0 100.0
JIHEBCH 55.4 39.6 5.0 .0 .0 100.0
SO AYUS 421 50.0 5.3 .0 2.6 100.0
noE/RsY 37.9 51.7 3.4 .0 6.9 100.0
XX g 44.9 50.9 3.0 4 7 100.0
de  suare 49.5 455 4.0 3 7 100.0
RIES- 54.9 40.7 3.3 .0 1.1 100.0
RIES= 59.5 37.8 2.7 .0 .0 100.0
Xtol g 53.3 46.7 .0 .0 .0 100.0
J|E} 44.4 55.6 .0 .0 .0 100.0
XIXIHE S 48.7 46.5 3.3 .0 1.5 100.0
noE/RsY 18.2 54.5 .0 .0 27.3 100.0
oy me 50.9 44.9 3.1 .0 1.0 100.0
g8 =g 47.8 46.7 3.8 3 1.4 100.0
= RS 47.4 48.3 2.9 3 1.2 100.0
gE/RSY 100.0 0 .0 .0 .0 100.0
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GB6. HdIMA= TSS9 Lictlt 2HIIFE0] 2HECZ Az 23S ga2 00X

H2BHALIDN? E2 UMz 28E0 &S 0IX12 JACHD 2SI LD

b) =
ENEEEEEE S
bz 2 | oMz =2 | asol o o2/

M M 2 OE | oot sg 8
58t | R8st | g5 | 955t | 58 | 955

N % N % N % N % N % N %
PSI= I | 70.0 25.2 2.5 3 2.0 100.0
S 68.2 27.6 2.4 4 1.4 100.0
01 Xt 71.8 22.9 2.6 2 2.6 100.0
ozl 200 68.0 24.9 3.1 9 3.1 100.0
E 30CH 66.3 29.0 2.4 .0 2.4 100.0
40CH 70.5 26.8 9 4 1.3 100.0
50CH 80.0 16.0 2.0 .0 2.0 100.0
60AI 0l &t 73.1 22.1 3.6 .0 1.2 100.0
st =Z0/5t 70.9 17.4 4.7 1.2 5.8 100.0
E nE= 71.2 24.6 2.7 2 1.3 100.0
CHIHOl & 67.7 28.1 1.7 3 2.2 100.0
JbE 1002+ 0I5} 66.7 28.6 .0 2.4 2.4 100.0
%*ci 101~ 20002 711 20.9 4.0 5 3.5 100.0
T = 201740082 69.5 27.1 2.1 .0 1.3 100.0
- 401~ 5000+ 78.6 16.3 3.1 1.0 1.0 100.0
5018+210] &t 53.8 42.3 .0 .0 3.8 100.0
npE/22Y 56.3 25.0 6.3 .0 12.5 100.0
e M2 67.7 26.4 3.2 .0 2.7 100.0
dE  olm/AHD 65.1 29.1 3.4 4 1.9 100.0
2el 84.8 12.1 .0 .0 3.0 100.0
H&/z=2/52Y 48.0 48.0 4.1 .0 .0 100.0
/M2 /EY 79.5 20.5 .0 .0 .0 100.0
/3= 86.4 10.9 1.8 .0 9 100.0
SA/SA A 73.5 19.3 1.8 1.2 4.2 100.0
=M NE/oE/HD 66.1 27.4 3.9 4 2.2 100.0
X el 68.7 22.4 3.0 .0 6.0 100.0
H&/E2d/E= 59.4 34.9 5.1 .0 6 100.0
/MY /EE 72.4 25.4 .0 5 1.6 100.0
/3= 80.8 17.8 1.4 .0 .0 100.0
SA/SA A 73.9 20.2 1.6 5 3.7 100.0
HZ=/012 /512 75.0 25.0 .0 .0 .0 100.0
zgE/2sY 100.0 .0 .0 .0 .0 100.0
1600 B2t 013E B 71.4 23.8 2.3 .0 2.5 100.0
e gzxg o2 sg 68.8 26.8 2.9 2 1.2 100.0
W ozesg gy s9 67.5 25.0 0 2.5 5.0 100.0
v JIEt B8 72.4 27.6 .0 .0 .0 100.0
JI AR 68.3 25.7 4.0 .0 2.0 100.0
SO UYS 78.9 15.8 .0 2.6 2.6 100.0
zgz/28Y 65.5 27.6 3.4 .0 3.4 100.0
XX g 69.3 25.8 4.1 4 4 100.0
de  suate 69.8 26.2 2.0 .0 2.0 100.0
DIEL S 74.7 19.8 1.1 .0 4.4 100.0
e = 67.6 27.0 .0 2.7 2.7 100.0
XHol3 73.3 26.7 .0 .0 .0 100.0
J|E} 77.8 22.2 .0 .0 .0 100.0
XIXIHE S 71.0 23.8 2.6 4 2.2 100.0
zgz/28Y 27.3 54.5 .0 .0 18.2 100.0
oy me 72.1 22.6 3.1 3 1.7 100.0
g8 =g 67.1 27.7 1.4 3 3.5 100.0
e 24 71.5 24.4 3.2 3 6 100.0
gE/RSY .0 100.0 .0 .0 .0 100.0
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GB6. ABMAE CHSOl L2t 2HIITS0l 2HEO2 B2 2ZX g&2 0
MABALIDN B2 UHE SFNQ Y2 011D UCHD Y2ABHALIY

c) 21AlOf
E N EEEER I
bz 2 | oMz =2 | asol o o2/
M M 2l o2 | ooty sg 8
58t | R8st | g5 | 955t | 58 | 955
N % N % N % N % N % N %

PSI= I | 42.2 50.4 3.5 7 3.2 100.0
S 44.4 50.1 3.2 6 1.6 100.0

01 Xt 40.0 50.7 3.7 8 4.7 100.0

ozl 200 44.4 47.6 1.8 1.8 4.4 100.0
E 30CH 42.9 50.4 3.6 .0 3.2 100.0
40CH 38.8 55.8 3.6 4 1.3 100.0

50CH 34.0 52.0 8.0 .0 6.0 100.0

60AI 0l &t 44.2 47.8 4.0 8 3.2 100.0

st =Z0/5t 48.8 36.0 2.3 1.2 11.6 100.0
E = 39.6 52.4 4.9 5 2.5 100.0
CHIHOl & 44.7 50.6 1.7 8 2.2 100.0

JbE 1002+ 0I5} 45.2 47.6 2.4 4.8 .0 100.0
%*ci 101~ 20002 46.8 423 4.0 1.5 5.5 100.0
T = 201740082 40.0 53.8 3.9 2 2.1 100.0
- 401~ 5000+ 50.0 45.9 1.0 1.0 2.0 100.0
5018+210] &t 26.9 65.4 .0 .0 7.7 100.0
npE/22Y 37.5 31.3 6.3 .0 25.0 100.0

e Mg 44.5 45.5 45 9 4.5 100.0
dE  olm/AHD 37.9 54.0 3.4 1.5 3.1 100.0
2el 42.4 45.5 .0 .0 12.1 100.0
H&/z=2/52Y 43.9 48.0 8.2 .0 .0 100.0
/M2 /EY 34.8 65.2 .0 .0 .0 100.0
thr/ze 42.7 54.5 1.8 .0 9 100.0
SA/SA A 49.4 41.0 3.6 6 5.4 100.0

=M NE/oE/HD 38.7 52.2 3.5 2.2 3.5 100.0
X el 43.3 46.3 1.5 .0 9.0 100.0
H&/E2d/E= 411 50.3 8.0 6 .0 100.0
/MY /EE 39.5 56.2 1.6 5 2.2 100.0
thr/ze 44.5 52.1 1.4 .0 2.1 100.0
SA/SA A 46.8 43.6 3.7 .0 5.9 100.0
HZ=/012 /512 75.0 25.0 .0 .0 .0 100.0
zgE/2sY 0 100.0 .0 .0 .0 100.0

1600 B2t 013E B 39.9 51.8 4.2 3 3.7 100.0
e gzxg o2 sg 4.7 52.4 3.4 7 1.7 100.0
W ozesg gy s9 42.5 50.0 0 2.5 5.0 100.0
v JIEt B8 55.2 44.8 0 .0 .0 100.0
JI AR 50.5 40.6 5.0 .0 4.0 100.0

SO UYS 31.6 57.9 0 2.6 7.9 100.0
zgz/28Y 48.3 34.5 3.4 3.4 10.3 100.0

XX g 42.3 51.3 45 7 1.1 100.0
de  suate 39.9 53.5 3.3 3 3.0 100.0
DIEL S 45.1 49.5 1.1 .0 4.4 100.0

e = 54.1 43.2 0 .0 2.7 100.0

Xtol g 66.7 33.3 0 .0 .0 100.0

J|E} 55.6 44.4 0 .0 .0 100.0
XIXIHE S 40.1 49.4 45 1.1 4.8 100.0
zgz/28Y 45.5 27.3 0 9.1 18.2 100.0

oy me 44.6 48.1 3.5 1.0 2.8 100.0
g8 =g 39.9 52.2 3.3 3 4.3 100.0
e 24 42.7 50.3 3.8 9 2.3 100.0
gE/RSY .0 100.0 0 .0 .0 100.0
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GB6. HdIMA= TSS9 Lictlt 2HIIFE0] 2HECZ Az 23S ga2 00X

H2BHALIDN? E2 UMz 28E0 &S 0IX12 JACHD 2SI LD

d) TatA
IHE TN As-TeA
Gz 2 | oMz 2 | asol o o2/

A A 2t oe | soord sg e
258 # | R58td | R8s # | 258 | Ra8 # | K58

N % N % N % N % N % N %
SIS 71.9 21.7 3.6 5 2.3 100.0
o Xt 71.4 23.3 3.4 6 1.2 100.0
Of Xt 70.4 20.1 3.7 4 3.4 100.0
olzr 200 67.6 24.9 4.0 1.3 2.2 100.0
g 30CH 72.2 23.4 2.8 .0 1.6 100.0
40CH 71.4 22.3 3.6 .0 2.7 100.0
50CH 82.0 12.0 2.0 .0 4.0 100.0
60AI 0l &t 73.9 18.5 4.4 8 2.4 100.0
s =Z0/6t 70.9 14.0 3.5 .0 11.6 100.0
E kS 70.9 22.8 4.3 5 1.4 100.0
CHIH Ol & 73.6 21.9 2.5 6 1.4 100.0
JbE 1002+ 0I5} 73.8 19.0 2.4 2.4 2.4 100.0
%i 101~ 2000+ 67.7 19.9 6.0 1.5 5.0 100.0
T = 20174008t 72.9 20.4 3.1 .0 1.6 100.0
- 401~ 5000+ 75.5 20.4 2.0 1.0 1.0 100.0
5018+210] & 65.4 34.6 .0 .0 .0 100.0
npz/e2Y 68.8 12.5 12.5 .0 6.3 100.0
e A= 79.1 15.5 2.3 9 2.3 100.0
dE  orm/AHD 62.5 30.3 4.6 8 1.9 100.0
2el 87.9 9.1 .0 .0 3.0 100.0
Ha/z=2/52Y 56.1 31.6 12.2 .0 .0 100.0
/M2 /EY 76.8 23.2 .0 .0 .0 100.0
/3= 77.3 19.1 1.8 .0 1.8 100.0
SA/SAAE 76.5 13.9 3.0 6 6.0 100.0
=M N/ 72.2 19.1 4.8 1.3 2.6 100.0
e e 74.6 20.4 .0 .0 3.0 100.0
H&/Ed/5= 61.1 28.0 9.7 6 6 100.0
D /EY/EE 741 23.8 5 .0 1.6 100.0
/2= 76.7 21.2 1.4 .0 7 100.0
SAH/SMEY 76.1 15.4 2.7 5 5.3 100.0
HZ=/012 /512 37.5 62.5 .0 .0 .0 100.0
zgE/2sY 100.0 .0 .0 .0 .0 100.0
1600 BtL2tY 013& B 72.5 21.0 3.4 3 2.8 100.0
e gizxg oo s 71.0 23.4 3.7 2 1.7 100.0
W ozesg agz s9 70.0 20.0 0 2.5 7.5 100.0
T Jleee 82.8 17.2 0 .0 .0 100.0
JI A 73.3 21.8 4.0 .0 1.0 100.0
SO YUYS 71.1 18.4 7.9 2.6 .0 100.0
zgE/fsY 65.5 17.2 6.9 3.4 6.9 100.0
XX ey 71.2 21.3 6.0 .0 1.5 100.0
E - 72.1 22.3 3.7 .0 2.0 100.0
lEL- =g 76.9 18.7 0 .0 4.4 100.0
e = 67.6 29.7 0 2.7 .0 100.0
XHol3 80.0 20.0 0 .0 .0 100.0
J|E} 77.8 22.2 0 .0 .0 100.0
XIRIHE S 71.0 21.9 3.0 1.1 3.0 100.0
zpE/22Y 63.6 9.1 9.1 9.1 9.1 100.0
olg A= 73.5 18.8 5.6 7 1.4 100.0
g2 =c 69.8 23.6 3.0 .0 3.5 100.0
= SRS 72.7 22.1 2.6 9 1.7 100.0
FE/RSY 100.0 0 0 .0 .0 100.0
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GB6. ABMAE CHSOl L2t 2HIITS0l 2HEO2 B2 2ZX g&2 0
MABALIDN B2 UHE SFNQ Y2 011D UCHD Y2ABHALIY

e) 012
ENEEEEEESIE
bz 2 | oMz =2 | asol o o2/
M M 2l o2 | ooty sg 8
58t | R8st | g5 | 955t | 58 | 955
N % N % N % N % N % N %

PSI= I | 51.9 451 2.3 i 6 100.0
S 53.5 44.0 1.6 2 6 100.0

01 Xt 50.3 46.2 3.0 .0 6 100.0

ozl 200 46.7 51.1 2.2 .0 .0 100.0
E 30CH 46.4 50.0 2.8 .0 8 100.0
40CH 49.6 46.9 3.1 .0 4 100.0

50CH 50.0 44.0 2.0 .0 4.0 100.0

60AI 0l &t 64.7 33.3 1.2 4 4 100.0

st =Z0/5t 64.0 30.2 1.2 .0 4.7 100.0
E nE= 53.9 43.0 2.9 .0 2 100.0
CHIHOl & 45.8 52.0 1.7 3 3 100.0

JbE 1002+ 0I5} 42.9 57.1 .0 .0 .0 100.0
%*ci 101~ 20002 57.2 37.3 4.0 .0 1.5 100.0
T = 201740082 51.2 46.5 1.8 .0 5 100.0
- 401~ 5000+ 51.0 46.9 1.0 1.0 .0 100.0
5018+210] &t 65.4 34.6 .0 .0 .0 100.0
npE/22Y 18.8 62.5 18.8 .0 .0 100.0

e Mg 47.7 49.5 2.3 .0 5 100.0
dE  olm/AHD 55.2 42 1 1.9 .0 8 100.0
2el 54.5 45.5 .0 .0 .0 100.0
H&/z=2/52Y 50.0 40.8 9.2 .0 .0 100.0
/M2 /EY 42.9 57.1 .0 .0 .0 100.0
/3= 58.2 40.0 9 .0 9 100.0
SA/SA A 54.8 41.6 1.8 6 1.2 100.0

=M NE/oE/HD 46.1 51.3 2.6 .0 .0 100.0
X el 47.8 47.8 1.5 .0 3.0 100.0
H&/E2d/E= 53.1 411 5.7 .0 .0 100.0
/MY /EE 48.6 50.3 5 .0 5 100.0
/3= 59.6 39.0 1.4 .0 .0 100.0
SA/SA A 54.8 41.5 1.6 5 1.6 100.0
HZ=/012 /512 87.5 12.5 .0 .0 .0 100.0
zgE/2sY 100.0 .0 .0 .0 .0 100.0

1600 B2t 013E B 53.5 43.6 1.7 .0 1.1 100.0
e gzxg o2 sg 50.2 46.6 2.4 2 5 100.0
W ozesg gy s9 52.5 47.5 0 0 0 100.0
v JIEt B8 58.6 41.4 0 .0 .0 100.0
JI AR 54.5 42.6 3.0 .0 .0 100.0

SO UYS 421 55.3 2.6 .0 .0 100.0
zgz/28Y 51.7 37.9 10.3 .0 .0 100.0

XX g 47.6 49.1 3.4 .0 .0 100.0
de  suate 51.2 475 1.0 .0 3 100.0
DIEL S 46.2 51.6 0 .0 2.2 100.0

e = 54.1 45.9 0 .0 .0 100.0

XHol3 53.3 46.7 0 .0 .0 100.0

J|E} 44.4 55.6 0 .0 .0 100.0
XIXIHE S 59.1 35.7 3.7 4 1.1 100.0
zgz/28Y 45.5 45.5 9.1 .0 .0 100.0

oy me 42.9 54.4 2.1 3 3 100.0
g8 =g 53.8 41.6 3.5 .0 1.1 100.0
= RS 57.3 41.3 1.2 .0 3 100.0
gE/RSY 100.0 0 0 .0 .0 100.0
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GB6. HdIMA= TSS9 Lictlt 2HIIFE0] 2HECZ Az 23S ga2 00X

H2BHALIDN? E2 UMz 28E0 &S 0IX12 JACHD 2SI LD

f) o2&
IHE AN As-98
bz 2 | oMz =2 | asol o o2/

M M 2l o2 | ooty sg 8
58t | R8st | g5 | 955t | 58 | 955

N % N % N % N % N % N %
PSI= I | 70.6 241 3.2 2 1.9 100.0
S 71.4 24.3 3.7 .0 6 100.0
01 Xt 69.8 23.9 2.8 4 3.2 100.0
ozl 200 70.2 23.6 5.3 .0 9 100.0
E 30CH 64.3 31.7 2.4 .0 1.6 100.0
40CH 75.0 21.9 9 4 1.8 100.0
50CH 72.0 20.0 2.0 .0 6.0 100.0
60AI 0l &t 73.1 19.7 4.4 4 2.4 100.0
st =Z0/5t 62.8 20.9 4.7 1.2 10.5 100.0
E nE= 71.6 22.6 4.3 2 1.3 100.0
CHIHOl & 71.1 27.0 1.1 .0 8 100.0
JbE 1002+ 0I5} 71.4 21.4 .0 4.8 2.4 100.0
%*ci 101~ 20002 67.7 23.4 6.0 .0 3.0 100.0
T = 201740082 71.3 24.5 2.4 .0 1.8 100.0
- 401~ 5000+ 69.4 27.6 3.1 .0 .0 100.0
5018+210] &t 88.5 1.5 .0 .0 .0 100.0
npE/22Y 56.3 25.0 12.5 .0 6.3 100.0
e M2 76.8 16.4 3.6 5 2.7 100.0
dE  olm/AHD 68.2 26.4 3.8 .0 1.5 100.0
2el 84.8 9.1 .0 .0 6.1 100.0
H&/z=2/52Y 63.3 27.6 9.2 .0 .0 100.0
/M2 /EY 59.8 40.2 .0 .0 .0 100.0
/3= 69.1 27.3 1.8 .0 1.8 100.0
SA/SA A 75.9 18.7 1.8 6 3.0 100.0
=M NE/oE/HD 73.0 21.7 3.5 .0 1.7 100.0
X el 71.6 17.9 45 .0 6.0 100.0
H&/E2d/E= 66.3 24.6 7.4 6 1.1 100.0
/MY /EE 62.7 34.6 1.1 5 1.1 100.0
/3= 74.7 24.0 1.4 .0 .0 100.0
SA/SA A 75.5 18.6 2.1 .0 3.7 100.0
HZ=/012 /512 75.0 25.0 .0 .0 .0 100.0
zgE/2sY 100.0 .0 .0 .0 .0 100.0
1600 B2t 013E B 72.5 20.4 2.3 .0 2.8 100.0
e gzxg o2 sg 68.5 27.1 2.4 2 1.7 100.0
W ozesg gy s9 70.0 25.0 2.5 0 2.5 100.0
v JIEt B8 72.4 27.6 .0 .0 .0 100.0
JI AR 71.3 24.8 4.0 .0 .0 100.0
SO UYS 71.1 13.2 15.8 .0 .0 100.0
zgz/28Y 70.4 10.3 10.3 3.4 3.4 100.0
XX g 62.9 30.7 45 4 1.5 100.0
de  suate 73.8 22.9 2.0 .0 1.3 100.0
DIEL S 80.2 16.5 1.1 .0 2.2 100.0
e = 70.3 24.3 2.7 .0 2.7 100.0
Xtol g 66.7 33.3 .0 .0 .0 100.0
J|E} 77.8 22.2 .0 .0 .0 100.0
XIXIHE S 71.7 21.2 45 .0 2.6 100.0
zgz/28Y 63.6 18.2 .0 9.1 9.1 100.0
oy A= 71.4 24.0 3.8 .0 7 100.0
g8 =g 69.8 25.3 1.6 3 3.0 100.0
e 24 70.6 23.0 4.4 3 1.7 100.0
gE/RSY 100.0 .0 .0 .0 .0 100.0
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GB6. HdIMA= TSS9 Lictlt 2HIIFE0] 2HECZ Az 23S ga2 00X

H2BHALIDN? E2 UMz 28E0 &S 0IX12 JACHD 2SI LD

a) HLiCH
IHE IEHN AS-HLIC
bz 2 | oMz =2 | asol o o2/

M M 2l o2 | ooty sg 8
58t | R8st | g5 | 955t | 58 | 955

N % N % N % N % N % N %
PSI= I | 68.3 25.8 2.5 1.0 2.4 100.0
S 67.3 28.0 2.6 8 1.2 100.0
01 Xt 69.2 23.7 2.4 1.2 3.6 100.0
ozl 200 64.9 26.7 3.1 2.7 2.7 100.0
E 30CH 66.7 28.2 2.0 4 2.8 100.0
40CH 68.3 28.1 1.8 4 1.3 100.0
50CH 78.0 16.0 2.0 .0 4.0 100.0
60AI 0l &t 71.1 22.5 3.2 8 2.4 100.0
st =Z0/5t 68.6 17.4 2.3 1.2 10.5 100.0
E = 69.4 24.8 3.4 9 1.4 100.0
CHIHOl & 66.3 29.5 1.1 1.1 2.0 100.0
JbE 1002+ 0I5} 71.4 16.7 4.8 4.8 2.4 100.0
%*ci 101~ 20002 66.7 23.4 4.0 1.0 5.0 100.0
T = 201740082 67.9 28.2 1.9 3 1.6 100.0
- 401~ 5000+ 75.5 21.4 .0 2.0 1.0 100.0
5018+210] &t 69.2 26.9 .0 .0 3.8 100.0
npE/22Y 50.0 12.5 18.8 12.5 6.3 100.0
e M2 67.7 25.5 2.7 1.4 2.7 100.0
dE  olm/AHD 64.4 28.7 2.7 1.9 2.3 100.0
2el 69.7 21.2 .0 .0 9.1 100.0
H&/z=2/52Y 59.2 32.7 8.2 .0 .0 100.0
/M2 /EY 741 25.9 .0 .0 .0 100.0
thr/ze 71.8 25.5 1.8 .0 9 100.0
SA/SA A 741 18.7 1.2 1.2 4.8 100.0
=M NE/oE/HD 59.1 32.6 2.2 2.6 3.5 100.0
X el 67.2 25.4 1.5 .0 6.0 100.0
H&/E2d/E= 63.4 28.6 6.9 6 6 100.0
/MY /EE 74.6 22.7 1.1 1.1 5 100.0
thr/ze 74.7 22.6 1.4 .0 1.4 100.0
SA/SA A 73.9 19.7 1.6 5 4.3 100.0
HZ=/012 /512 50.0 50.0 .0 .0 .0 100.0
zgE/2sY 100.0 0 .0 .0 .0 100.0
1600 B2t 013E B 69.7 25.8 2.3 .0 2.3 100.0
e gzxg o2 sg 67.8 26.6 2.2 1.5 2.0 100.0
W ozesg gy s9 60.0 30.0 0 2.5 7.5 100.0
v JIEt B8 65.5 34.5 .0 .0 .0 100.0
JI AR 69.3 25.7 3.0 .0 2.0 100.0
SO UYS 71.1 15.8 5.3 5.3 2.6 100.0
zgz/28Y 65.5 13.8 10.3 3.4 6.9 100.0
XX g 67.8 26.2 3.4 7 1.9 100.0
de  suate 68.8 28.2 1.3 3 1.3 100.0
DIEL S 69.2 25.3 .0 .0 5.5 100.0
e = 75.7 24.3 .0 .0 .0 100.0
Xtol g 80.0 20.0 .0 .0 .0 100.0
J|E} 88.9 1.1 .0 .0 .0 100.0
XIXIHE S 65.8 24.2 4.1 2.2 3.7 100.0
zgz/28Y 63.6 18.2 9.1 9.1 .0 100.0
oy me 67.6 26.1 2.1 2.1 2.1 100.0
g8 =g 68.2 26.1 2.2 3 3.3 100.0
= RS 69.2 25.0 3.2 9 1.7 100.0
gE/RSY .0 100.0 .0 .0 .0 100.0
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GB6. HdIMA= TSS9 Lictlt 2HIIFE0] 2HECZ Az 23S ga2 00X

H2BHALIDN? E2 UMz 28E0 &S 0IX12 JACHD 2SI LD

h) S
IHE AN Ast-S0
bz 2 | oMz =2 | asol o o2/

M M 2 Oe | sood sg 8
58t | R8st | g5 | 955t | 58 | 955

N % N % N % N % N % N %
PSI= I | 73.4 21.8 3.2 2 1.4 100.0
S 73.0 22.9 3.2 .0 8 100.0
01 Xt 73.8 20.7 3.2 4 2.0 100.0
ozl 200 69.3 24.0 5.3 9 4 100.0
E 30CH 69.8 26.6 2.4 .0 1.2 100.0
40CH 76.8 20.5 1.8 .0 9 100.0
50CH 78.0 14.0 2.0 .0 6.0 100.0
60AI 0l &t 76.7 17.7 3.6 .0 2.0 100.0
st =Z0/5t 80.2 9.3 2.3 .0 8.1 100.0
E = 72.0 23.1 3.6 2 1.1 100.0
CHIHOl & 74.2 22.5 2.8 3 3 100.0
JbE 1002+ 0I5} 71.4 23.8 2.4 2.4 .0 100.0
%*ci 101~ 20002 67.7 23.4 5.5 5 3.0 100.0
T = 201740082 74.6 21.9 2.4 .0 1.1 100.0
- 401~ 5000+ 80.6 18.4 .0 .0 1.0 100.0
5018+210] &t 73.1 23.1 3.8 .0 .0 100.0
npE/22Y 62.5 12.5 25.0 .0 .0 100.0
e Me 78.2 16.4 4.1 .0 1.4 100.0
dE  olm/AHD 65.5 29.9 3.4 4 8 100.0
2el 84.8 9.1 3.0 3.0 .0 100.0
H&/z=2/52Y 64.3 27.6 8.2 .0 .0 100.0
/M2 /EY 84.8 15.2 .0 .0 .0 100.0
thr/ze 71.8 23.6 1.8 .0 2.7 100.0
SA/SA A 75.9 18.7 1.8 .0 3.6 100.0
=M NE/oE/HD 74.3 20.9 4.3 .0 4 100.0
X el 77.6 14.9 1.5 3.0 3.0 100.0
H&/E2d/E= 66.3 25.1 8.0 .0 6 100.0
/MY /EE 76.2 21.1 1.6 .0 1.1 100.0
thr/ze 74.7 22.6 1.4 .0 1.4 100.0
SA/SA A 74.5 21.3 1.1 .0 3.2 100.0
HZ=/012 /512 62.5 37.5 .0 .0 .0 100.0
zgE/2sY 0 100.0 .0 .0 .0 100.0
1600 B2t 013E B 73.9 21.2 2.5 .0 2.3 100.0
e gzxg o2 sg 73.7 22.9 2.4 .0 1.0 100.0
W ozesg gy s9 80.0 20.0 0 0 0 100.0
v JIEt B8 86.2 13.8 .0 .0 .0 100.0
JI AR 71.3 21.8 4.0 2.0 1.0 100.0
SO UYS 65.8 21.1 13.2 .0 .0 100.0
zgz/28Y 58.6 24.1 13.8 .0 3.4 100.0
XX g 75.7 21.0 3.0 .0 4 100.0
de  suate 71.4 24.3 3.0 3 1.0 100.0
DIEL S 81.3 17.6 .0 .0 1.1 100.0
e = 67.6 27.0 2.7 .0 2.7 100.0
Xtol g 86.7 13.3 .0 .0 .0 100.0
J|E} 66.7 33.3 .0 .0 .0 100.0
XIXIHE S 71.7 20.4 45 4 3.0 100.0
zgz/28Y 54.5 27.3 18.2 .0 .0 100.0
oy me 75.6 20.2 3.5 .0 7 100.0
g8 =g 71.7 22.8 2.7 5 2.2 100.0
e 24 73.3 22.1 3.5 .0 1.2 100.0
gE/RSY 100.0 .0 .0 .0 .0 100.0

_36_



GB6. HdIMA= TSS9 Lictlt 2HIIFE0] 2HECZ Az 23S ga2 00X

H2BHALIDN? E2 UMz 28E0 &S 0IX12 JACHD 2SI LD

) 4=
E N EEEEE R
HMZE 2 | M2 8 | &= I o2/

A A 2 OE | ECotY s¢ e
258 # | R58td | R8s # | 258 | Ra8 # | K58

N % N % N % N % N % N %
SIS 38.1 57.2 3.2 4 1 100.0
o Xt 36.9 58.8 3.2 6 4 100.0
Of Xt 39.3 55.6 3.2 2 1.8 100.0
o 200 41.8 53.3 4.4 4 .0 100.0
E 300K 39.7 55.2 3.2 8 1.2 100.0
40CH 35.7 62.1 1.3 4 4 100.0
50CH 38.0 54.0 4.0 .0 4.0 100.0
60AI 0l &t 35.3 59.0 3.6 .0 2.0 100.0
s =Z0/6t 30.2 57.0 3.5 1.2 8.1 100.0
E kS 36.9 58.4 3.6 4 7 100.0
CHIH Ol & 41.6 55.6 2.5 3 .0 100.0
JbE 1002+ 0I5} 31.0 57.1 4.8 4.8 2.4 100.0
%i 101~ 2000+ 45.3 47.8 3.5 .0 3.5 100.0
T = 20174008t 35.3 60.8 3.2 2 5 100.0
- 401~ 5008+ 41.8 58.2 .0 .0 .0 100.0
5018+210] & 46.2 50.0 .0 3.8 .0 100.0
npz/e2Y 37.5 43.8 18.8 .0 .0 100.0
X A2 41.8 53.2 3.6 5 9 100.0
dE  orm/AHD 37.2 59.0 3.4 .0 4 100.0
2el 45.5 48.5 3.0 3.0 .0 100.0
Ha/z=2/52Y 18.4 74.5 7.1 .0 .0 100.0
2E/EHe/HY 50.9 49.1 .0 .0 .0 100.0
/ze 33.6 61.8 1.8 9 1.8 100.0
SA/SAAE 39.2 53.6 3.0 6 3.6 100.0
=M N/ 35.2 60.4 4.3 .0 .0 100.0
e e 43.3 47.8 6.0 1.5 1.5 100.0
HWa/zd/2=2 26.9 66.9 5.7 .0 6 100.0
D /EY/EE 48.6 49.7 .0 1.1 5 100.0
/2= 39.0 58.2 1.4 7 7 100.0
SAH/SMEY 37.8 55.3 3.2 .0 3.7 100.0
HZ=/012 /512 75.0 25.0 .0 .0 .0 100.0
zgE/2sY .0 100.0 .0 .0 .0 100.0
1600 BtL2tY 013& B 34.8 59.8 3.1 3 2.0 100.0
;HI% oEg L8 58 38.0 57.8 2.7 5 1.0 100.0
tn  UF=Sg RN = 40.0 60.0 .0 .0 .0 100.0
JIEt B8 34.5 65.5 .0 .0 .0 100.0
I 45.5 51.5 3.0 .0 .0 100.0
SO YUYS 44.7 44.7 7.9 2.6 .0 100.0
roz/e2sd 44.8 41.4 13.8 .0 .0 100.0
XX ey 40.4 54.7 3.7 4 7 100.0
E - 36.5 59.8 2.7 .0 1.0 100.0
lEL- =g 40.7 57.1 1.1 .0 1.1 100.0
e = 40.5 59.5 .0 .0 .0 100.0
Xtoled 33.3 66.7 .0 .0 .0 100.0
JIE 33.3 66.7 .0 .0 .0 100.0
XIRIHE S 36.4 56.1 45 1.1 1.9 100.0
g/ 45.5 45.5 9.1 .0 .0 100.0
olg A= 42.9 52.6 3.8 3 3 100.0
g»:éf =c 37.8 57.3 2.4 5 1.9 100.0
= SRS 34.3 61.0 3.5 3 9 100.0
FE/RSY 100.0 .0 .0 .0 .0 100.0
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Gl12. CtS2 FZO0l CHoll (HE A M23Ha LIDH?
i< 280, O 0, Cha OtLICH DiS OHLICHZ 7Aotel d2s 25 FHAIL.

at) =Al H2lelE52 £0l= I SE0l 2HH2 ZARE ARZ0IC

MBI CHE PALR IS &t

APEHO

2t ohg/

e 0% [CA 2% |[CA 0L | R OtLl | SoE & |2ag/e
Ct CH Ct C Nz o2 | =S¢ B
BRI R EEE R EEE R EEE R EEEE
N % N % N % N % N % N % N %

PSS | 75 30.1 1.6 19.8 5 5 100.0
S Xt 8.3 29.0 41.4 20.5 6 2 100.0
01 Xt 6.7 31.2 41.8 19.1 A 8 100.0
olg 2004 6.2 31.6 43.6 18.2 .0 4 100.0
E 3004 8.7 25.4 42.9 22.6 4 0 100.0
400H 7.1 29.0 42.0 21.4 .0 4 100.0
50CH 2.0 26.0 52.0 18.0 2.0 0 100.0
60AI 0 At 8.8 35.3 36.1 17.3 1.2 1.2 100.0
2 =Z0|5 12.8 27.9 33.7 22.1 2.3 1.2 100.0
E = 7.1 32.7 40.5 18.8 4 5 100.0
CHRH Ol & 6.7 26.7 45.5 20.5 3 3 100.0
JbE 100B+R015H 11.9 31.0 31.0 23.8 2.4 .0 100.0
%Lci 101 ~ 2008+ 9.5 33.8 32.3 22.9 1.0 5 100.0
T = 20174009 7.1 30.0 43.4 18.6 3 5 100.0
- 401~ 5000+ 6.1 24.5 52.0 17.3 .0 .0 100.0
5010+ 0] &f 3.8 15.4 57.7 19.2 .0 3.8 100.0
ZRE/RSY 0 43.8 25.0 31.3 .0 0 100.0
NI 10.9 25.0 40.9 21.4 9 9 100.0
& olm/AD| 4.6 29.9 471 17.6 .0 8 100.0
2 15.2 18.2 33.3 33.3 .0 0 100.0
Ha/z=/2d 0 29.6 59.2 10.2 1.0 .0 100.0
ZE/E2/EY 3.6 34.8 38.4 23.2 .0 0 100.0
thr/z= 16.4 30.9 25.5 26.4 9 0 100.0
A SAHAY 7.2 36.1 38.0 17.5 6 6 100.0
4 NE/oE/AD) 9.1 30.9 39.1 19.6 4 9 100.0
PN 10.4 28.4 43.3 17.9 .0 0 100.0
Ha/zg/2=2 2.3 24.0 53.7 18.3 6 1.1 100.0
ZE/EY/EE 7.0 29.7 38.9 23.8 5 0 100.0
thr/z= 11.6 28.1 35.6 23.3 7 7 100.0
A SAHAY 6.4 37.8 39.9 15.4 5 .0 100.0
RIZ=/01=/8H 2l 12.5 25.0 37.5 25.0 .0 0 100.0
np=/2sg 0 .0 100.0 0 .0 0 100.0
1601 sttt 0/131& 58 9.6 28.9 42.2 18.1 6 6 100.0
e szxg Los s 7.6 30.7 40.7 20.2 2 5 100.0
A aixrsy Az 54 2.5 25.0 475 25.0 0 0| 1000
TT Jlg e 6.9 20.7 69.0 3.4 .0 .0 100.0
JI 2B 5.0 37.6 33.7 22.8 1.0 0 100.0
SHA UUS 5.3 31.6 36.8 26.3 .0 0 100.0
NpE/Rsg 0 24.1 44.8 24.1 3.4 3.4 100.0
O R=-EE=EI= 7.9 33.3 40.1 18.0 4 4 100.0
e sty 10.3 31.6 41.2 15.9 3 7 100.0
OIELSY 6.6 22.0 46.2 25.3 .0 .0 100.0
IS 13.5 21.6 51.4 13.5 .0 0 100.0
LEIE 6.7 33.3 53.3 6.7 .0 0 100.0
JIEf 22.2 33.3 44.4 .0 .0 .0 100.0
XK= et 3.3 28.3 39.8 27.1 7 7 100.0
ZRE/RSY 0 455 45.5 0 9.1 0 100.0
o A 6.6 30.7 42.5 19.9 .0 3 100.0
22 =g 6.8 30.7 37.8 23.4 8 5 100.0
= 24 9.0 28.8 45.1 16.0 6 6 100.0
2E/28¢ .0 100.0 0 0 .0 .0 100.0
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Gl12. CtS2 FZO0l CHoll (HE A M23Ha LIDH?
i< 280, O 0, Cha OtLICH DiS OHLICHZ 7Aotel d2s 25 FHAIL.

bt) HIHAYXIE st EOXXS2 LIS o= T2 AIMES A ¥E=2 XILHXIC
Hi2{8tX| SOIZRXIO| JHOIROl RGHO THEF RBHO S
AEOf T
2t o/
e O% |Ch4a O | T4 OlU KR OlLl | S9E 2 | &2pE/2
C C C Ch HE s | s¢ |
SEstd [958 |Rastd |(S5std (56 | 958 |95t
N % N % N % N % N % N % N %
PSE= I 4.4 24.9 47.4 21.8 5 1.0 100.0
X 4.9 27.6 44.4 21.5 8 8 100.0
Ol X 3.9 22.3 50.3 22.1 2 1.2 100.0
oy 2004 4.9 21.3 50.7 22.7 4 0 100.0
E 300K 4.4 30.2 43.7 21.4 .0 4 100.0
400H 3.1 24.6 50.9 20.1 4 9 100.0
50CH 4.0 16.0 56.0 18.0 2.0 4.0 100.0
BOAIO &t 5.2 24.9 43.4 23.7 8 2.0 100.0
et ==0/5t 47 14.0 48.8 31.4 .0 1.2 100.0
E = 4.5 25.1 45.9 22.4 7 1.3 100.0
CHRH Ol & 4.2 27.0 49.7 18.3 3 6 100.0
JbE 1002+ 0I5t 2.4 26.2 42.9 28.6 .0 .0 100.0
%‘SA 101 ~ 2000+ 5.5 27.4 39.3 25.4 5 2.0 100.0
T = 201740002 45 24.0 50.1 20.6 3 5 100.0
- 401~ 5000+ 4.1 26.5 46.9 20.4 1.0 1.0 100.0
5010H2I 0] At 0 26.9 46.2 19.2 .0 7.7 100.0
Noz/2Sg .0 12,5 62.5 18.8 6.3 .0 100.0
e M2 7.7 20.5 55.9 15.5 5 .0 100.0
& ola/AD 3.1 36.8 37.5 19.2 1.1 2.3 100.0
2el 6.1 12.1 66.7 9.1 3.0 3.0 100.0
Ha/s=/E24 .0 34.7 55.1 10.2 .0 .0 100.0
Z=/HE/EY 1.8 22.3 30.4 455 .0 0 100.0
thr/z2e 10.0 13.6 42.7 33.6 .0 .0 100.0
S/ 2a/AY 2.4 18.1 57.8 19.9 .0 1.8 100.0
24 NS/oH/AD 4.8 26.5 50.4 16.5 1.3 4 100.0
NI 3.0 23.9 58.2 13.4 1.5 .0 100.0
Ha/sg/E2 2.3 32.0 49.7 13.7 6 1.7 100.0
=/ HY/ A 3.2 30.3 33.5 33.0 .0 0 100.0
thr/z2e 8.2 15.1 40.4 34.9 .0 1.4 100.0
S/ 2a/AY 3.2 19.7 57.4 17.6 .0 2.1 100.0
RIZ=/01=/8H 2 37.5 12,5 37.5 12.5 .0 0 100.0
ngE/RSY 0 .0 .0 100.0 .0 .0 100.0
1601  tLiate 0/151& 8 3.4 23.2 49.6 22.1 6 1.1 100.0
e pzxg L8 58 6.6 24.6 45.4 22.7 .0 7 100.0
A oizesg Az 54 0 30.0 55.0 15.0 0 0| 100.0
T Jg e .0 27.6 55.2 17.2 .0 .0 100.0
JIARCH 2.0 29.7 45.5 19.8 1.0 2.0 100.0
SHA UYUS 2.6 23.7 39.5 31.6 2.6 .0 100.0
ngE/RSE 6.9 24.1 48.3 13.8 3.4 3.4 100.0
X zpeey 6.4 26.2 40.4 26.6 .0 4 100.0
e suary 4.0 23.9 52.2 17.6 1.0 1.3 100.0
lELEg 4.4 23.1 50.5 22.0 .0 .0 100.0
IES= 5.4 32.4 43.2 18.9 .0 0 100.0
LI .0 33.3 33.3 33.3 .0 .0 100.0
JIEF 1.1 33.3 44.4 1.1 .0 .0 100.0
XIXI&EY gitt 3.0 23.0 49.1 22.3 7 1.9 100.0
ngE/RSY .0 36.4 54.5 9.1 .0 .0 100.0
g A 5.2 26.1 52.6 13.9 1.0 1.0 100.0
g8 == 3.5 22.8 46.2 26.1 5 8 100.0
= 24 4.7 26.2 44.2 23.8 .0 1.2 100.0
oE/R2¢ 0 .0 100.0 0 .0 0 100.0
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GB6B. HBIHA €1 AN A™HE XX FAl & 01=2 HSE0| 01H HAWA A ASLICH
HSIHA=E FA HSEY A0l HIAH ZEeet o200 AW 2FH0I2k) MBI LIDH?
OlLIH EF =02t M23HAILIDF?
SAL A0 M OFE 0l OIXI= X5t
N2/
2EA SN ostgls sg 8|
S58 8 K& 8 SE8 8 S58 8 K& 8
N % N % N % N % N %

PShE g 35.9 53.6 7.2 3.3 100.0
o X 34.5 58.2 5.7 1.6 100.0
Of Xt 37.3 49.1 8.7 4.9 100.0
o1 20CH 30.2 60.0 8.0 1.8 100.0
g 300k 31.0 59.5 7.5 2.0 100.0
40CH 32.6 56.3 7.1 4.0 100.0
50CH 34.0 56.0 8.0 2.0 100.0
60MI Ol &t 49.4 39.0 6.0 5.6 100.0
st =z0|5t 48.8 31.4 7.0 12.8 100.0
g kS 35.8 52.6 8.9 2.7 100.0
CHIH Ol & 32.9 60.7 4.8 1.7 100.0
BIE= 1008+ 0| 5 28.6 50.0 14.3 7.1 100.0
%*ci 101 20002 39.3 52.2 2.5 6.0 100.0
T = 20174008t 35.5 53.3 8.6 2.6 100.0
- 401 ~ 5000+ 40.8 55.1 4.1 .0 100.0
501821 0] At 34.6 61.5 .0 3.8 100.0
zpE/22Y .0 68.8 25.0 6.3 100.0
Xl N 37.7 49.5 10.9 1.8 100.0
g oI /A 30.7 54.8 10.3 4.2 100.0
2d 30.3 63.6 3.0 3.0 100.0
H&/s2/5 23.5 69.4 7.1 .0 100.0
”xmﬁ/&z 35.7 64.3 .0 .0 100.0
/3= 59.1 30.9 6.4 3.6 100.0
Sa/Sa/AY 34.9 53.6 3.6 7.8 100.0
EN KE/o1& /2] 31.3 53.9 1.3 3.5 100.0
NS 2 38.8 55.2 45 1.5 100.0
Ha/sd/5= 29.1 59.4 10.3 1.1 100.0
ZE/FUY/ES 38.9 56.2 3.2 1.6 100.0
/ze 49.3 41.8 5.5 3.4 100.0
Sa/Sa/AY 33.5 54.8 4.3 7.4 100.0
HMz=/012/62 25.0 37.5 37.5 .0 100.0
zos/e2d 100.0 .0 .0 .0 100.0
16CH stLiote 0131& =2 43.9 41.6 9.1 5.4 100.0
;Hl%*l oEg 28 58 32.9 59.5 5.9 1.7 100.0
oY D_@i%g AHU 58 37.5 62.5 .0 .0 100.0
T JlEt & 13.8 79.3 3.4 3.4 100.0
JHAoHu 27.7 59.4 8.9 4.0 100.0
EOR QU 23.7 65.8 10.5 .0 100.0
ZRg/R28Y 44.8 41.4 6.9 6.9 100.0
XX gaiead 36.0 57.7 5.6 7 100.0
8¢ = 435 45.2 7.6 3.7 100.0
e 34.1 62.6 3.3 .0 100.0
IES= 35.1 59.5 2.7 2.7 100.0
Xrol@ 20.0 73.3 6.7 .0 100.0
J|E 11.1 55.6 1.1 22.2 100.0
XX HE S 28.6 55.4 10.0 5.9 100.0
g/ 63.6 18.2 9.1 9.1 100.0
olg =) 33.1 60.3 45 2.1 100.0
g% = 36.1 50.8 8.2 4.9 100.0
= [SPS 38.1 51.2 8.1 2.6 100.0
E/R2Y .0 .0 100.0 .0 100.0
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GB7B. =Xl £Al & 0l= S0l MERCl= AIAZ QloH
Ol= =00l thet FHstel 2E0l HEH HHRASUMN?

SA HHOZ 0I5 0|2 2010) [HEr 2EBI5
OHS ZOF|CHA ZOH|CHA LFMH [N Lt [Ar2toll o zgE/8
X S S S 2HOE |gstois| s¢ 8l
S5 |25 |5 (250 (RS0 (258 # |25 #|e5s #
N % N % N % N % N % N % N % N %

SR 45 27.8 41.9 5.5 41 14.7 15| 100.0
SR 4.1 28.4 42.2 6.9 3.2 14.0 12| 100.0

Of Xt 4.9 27.2 41.6 4.1 4.9 15.4 1.8 100.0

o1z 200h 4.0 24.4 43.1 8.4 4.9 14.2 9| 100.0
g 300 4.8 23.4 43.7 7.9 5.2 12.7 2.4 100.0
4004 2.2 27.7 49.1 4.0 2.2 13.8 9| 100.0

50CH 12.0 28.0 30.0 2.0 8.0 16.0 4.0 | 100.0

60l 0l At 5.2 35.3 34.9 2.4 3.2 17.7 12| 100.0

s =Z0|6t 3.5 37.2 31.4 3.5 1.2 20.9 2.3 | 100.0
E Ik 5.1 27.7 42.1 4.2 4.3 14.8 1.8 100.0
CHIH Ol & 3.9 25.6 44.4 8.1 4.2 13.2 6| 100.0

JbE 1002+ 05} 2.4 35.7 33.3 7.1 2.4 16.7 2.4 | 100.0
g%i 101 ~ 20002 3.5 29.4 41.8 6.0 1.5 16.9 1.0 100.0
T 2201740089 5.0 26.3 43.1 5.5 4.7 13.8 1.6 100.0
T 401750002 6.1 33.7 40.8 2.0 6.1 1.2 0| 100.0
5010H210] & .0 34.6 34.6 7.7 3.8 19.2 0| 100.0
roz/2ed .0 .0 37.5 12.5 6.3 31.3 12.5| 100.0

X Mg 5.0 29.5 33.6 4.5 9.5 16.8 9| 100.0
e olx/AD 5.7 21.1 44.4 5.0 5.7 14.2 3.8 100.0
2 3.0 27.3 57.6 3.0 .0 9.1 0| 100.0
Ha/s=2/24 1.0 20.4 54.1 13.3 2.0 9.2 0| 100.0
/M2 /EY 4.5 32.1 56.3 7.1 .0 0 0| 100.0
/2= 10.0 45.5 25.5 .0 1.8 16.4 9| 100.0
2AH/SAY 6 25.9 39.8 6.0 6 25.9 12| 100.0

EA NE2/0#/2D] 3.0 23.0 39.1 6.1 9.1 17.4 2.2 | 100.0
e ua 7.5 26.9 49.3 3.0 1.5 10.4 1.5 100.0
H&/sg/E= 2.9 23.4 45.7 9.1 5.1 1.4 2.3 | 100.0
/MY 5.9 31.4 49.2 4.9 1.6 5.9 1.1 100.0
/2= 7.5 36.3 34.2 2.1 3.4 16.4 0| 100.0
2AH/SMAY 1.6 27.7 39.4 5.9 1.1 22.9 1.6 100.0
Hz=/012/6 2 25.0 37.5 12.5 .0 .0 25.0 0| 100.0
nRE/R2Y 100.0 .0 .0 .0 .0 0 0| 100.0

1608 StLi2tet 013/ & 54 6.2 32.3 34.0 4.0 5.1 17.0 1.4 100.0
U ozxg c2s s 3.7 25.9 46.8 5.4 3.7 13.2 15| 100.0
QQ RIESE-—y= = I | 2.5 32.5 35.0 17.5 .0 12.5 0| 100.0
T JlE B8 3.4 13.8 72.4 3.4 3.4 3.4 0| 100.0
J|AFCH 3.0 23.8 43.6 6.9 4.0 15.8 3.0 100.0
EDA YUY .0 23.7 52.6 7.9 7.9 7.9 0| 100.0
zgs/fsY 10.3 27.6 27.6 3.4 .0 27.6 3.4 | 100.0

XX zpielg 4.1 31.5 44.2 6.0 3.0 9.7 15| 100.0
39 siuerg 5.6 31.9 36.9 3.3 5.0 16.3 1.0 100.0
QIEL- =g 6.6 26.4 44.0 11.0 5.5 6.6 0| 100.0
RIES= 5.4 27.0 51.4 8.1 .0 5.4 2.7 | 100.0
Xrole .0 20.0 66.7 6.7 .0 6.7 0| 100.0

JIE .0 20.2 55.6 .0 .0 11.1 11.1 100.0
NXHY St 3.0 20.1 42.8 5.6 4.8 21.9 1.9 100.0
zgs/fsY 9.1 45.5 9.1 .0 .0 27.3 9.1 100.0

oy AE 4.2 26.5 46.0 7.0 2.1 13.2 1.0 100.0
g8 =g 4.9 27.7 40.2 4.1 4.9 16.6 1.6 100.0
= ERS 4.4 29.1 40.4 5.8 4.9 13.7 1.7 100.0
/Ry .0 .0 .0 .0 0| 100.0 0| 100.0
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GB8B. =Xl 2Al & 0l= WSE0 HES2=ZMH
St=2=22| Olct3 OOl CHSH ASHS M=20l HE A BHHASLIDN?

SA KMHOZ 0I5 IOl (HEH 28 5
A5 S BNEG| RS Al T kA Ol A PHOHOI A B 2 2/
o ! A o 2 | Dos (w2 mreoz| s¢ | 8
PS8 HR o MR HRSE MRS HREE HRSE RS WS MR
N% | N% | N% | N% [ N% | N% | N% | N% | N% | N%

EEREE] 375| 18.7| 318 25 51 2.2 5 3 18] 100.0
X 33.7| 17.2| 389 2.8 3.7 2.0 2 .0 1.4 100.0

Of Kt 412 201 | 249 2.2 6.5 2.4 0 6 2.2| 100.0

ol 200H 427 196| 23.1 1.8 7.6 1.8 0 4 3.1| 100.0
g 300 385 202| 29.4 2.4 5.2 1.6 0 .0 2.8 100.0
40CH 357 19.6| 33.9 2.2 4.9 2.7 4 0 4| 100.0

50CH 40.0| 14.0| 320 4.0 2.0 4.0 0 4.0 .0| 100.0
B0AI01 At 32.9| 165| 402 3.2 3.6 2.4 0 .0 1.2 100.0

stet ==0|o} 395 16.3| 326 3.5 4.7 .0 0 .0 3.5| 100.0
g 0= 354 | 186 325 2.7 5.6 3.1 2 2 1.6 100.0
CHRH Ol & 40.4| 19.4| 303 2.0 45 1.4 0 6 1.4 100.0

JbE 1008+ 015t 476 143| 238 .0 7.1 2.4 0 .0 4.8 100.0
%i 101 72000+ 36.8| 19.9| 36.3 1.5 2.5 5 0 0 2.5| 100.0
Z = 201 74002+ 36.6| 206| 306 2.6 5.2 2.6 2 3 1.3 100.0
T 40175000+ 39.8| 102| 337 6.1 7.1 2.0 0 .0 1.0| 100.0
5010H210] & 30.8| 154 423 0| 115 0 0 0 .0| 100.0
npz/esy 50.0 0| 125 .0 6.3| 125 0 6.3| 12.5| 100.0

X Mg 32.3| 186 34.1 1.8 7.3 4.1 0 9 .9 100.0
& o1m/AD| 326 17.2| 314 2.7 9.6 1.9 4 4 3.8 100.0
2ol 455 91| 424 3.0 0 .0 0 .0 .0 100.0
HE/z=2/8Y 41.8| 347| 184 1.0 4.1 .0 .0 .0 .0| 100.0
T/ /Y 491 | 13.4| 357 9 9 .0 0 .0 .0| 100.0
tr/ze 427 12.7| 355 8.2 0 0 0 0 .9 100.0
2a/SM/EY 36.7| 21.1] 30.1 1.2 3.0 4.8 0 .0 3.0 | 100.0

=4 NES/H/BD 37.0| 148 304 2.2 8.7 4.3 4 4 1.7| 100.0
N 2te 37.3| 209]| 37.3 .0 4.5 .0 .0 .0 0| 100.0
Ha/z2g/a= 36.6| 269| 234 2.9 6.9 1.7 0 6 1.1 100.0
/ALY 411 189 35.1 5 2.7 0 0 0 1.6 100.0
Hr/ze 41.8| 13.7| 329 6.2 2.1 1.4 0 7 1.4 100.0
S/ S6HAY 34.0| 191 | 34.0 1.6 3.7 3.7 0 0 3.7 | 100.0
RZ=/01=2/612 0| 125]| 625]| 125 125 .0 0 .0 .0| 100.0
ngE/sd 0 .0 0] 100.0 0 .0 0 .0 .0 100.0

160H stitetet olsla | 33.4| 16.7| 377 4.0 4.8 1.4 0 6 1.4 100.0
Ue oiz=g o8 3 402 190 300 2.0 5.4 1.7 2 .0 1.5 100.0
W oizesgaad 350| 225 30.0 0| 100 0 0 0| 25] 100.0
T JlIE e 207 | 41.4| 31.0 .0 3.4 3.4 0 .0 .0| 100.0
JIHCH 426| 208| 208 1.0 5.0 5.9 0 .0 4.0 | 100.0
SO UAUS 60.5| 13.2| 15.8 2.6 2.6 2.6 0 .0 2.6 | 100.0
npZ/R2Y 20.7| 10.3| 483 3.4 3.4 6.9 0 3.4 3.4 100.0

XX gaeg 39.0| 18.7| 34.1 1.9 45 1.1 0 0 7| 100.0
3¢ syety 336| 18.9| 38.2 2.7 3.3 1.0 3 7 1.3 | 100.0
I 385| 17.6| 286 4.4 8.8 .0 0 0 2.2| 100.0
olz=gt 324 29.7| 27.0 2.7 5.4 2.7 0 .0 .0| 100.0
EIE 26.7| 33.3| 200 0| 133 6.7 0 .0 .0 100.0

JIEf 44.4| 222 222 0 ol 11.1 0 0 0| 100.0
XX eir 416 171 | 242 2.6 6.3 4.8 0 .0 3.3 | 100.0
noE/esy 27.3 0| 545 0 0 0 0 9.1 9.1 100.0

o A 41.8| 21.3| 289 1.0 4.2 1.4 0 .0 1.4 100.0
g% = 38.3| 16.6| 285 3.3 7.6 2.7 .0 3 2.7 | 100.0
s B3 32.8| 189| 37.8 2.9 3.2 2.3 3 6 1.2 100.0
oz/8Y 100.0 .0 0 .0 0 .0 0 .0 .0| 100.0
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G13. 22X 2Al & DI=2US8e MEe=z olal,
HIH SHol st 0l=2 &0l HEA BHae A0l2t) MG LIDE?
SAl HHOZ 018t 0|=0| o5He] W5}
AEHOl
Bislgle | ot gl | 2ez/e

S | =S A 2 24/21El EE ol
Sasd | 258 | a8 | 5% # | a8 M | 255 #

N % N % N % N % N % N %
= A 671 20.4 9.3 2.3 9 100.0
=X 67.5 22.3 7.5 2.2 4 100.0
o1 Xt 66.7 18.5 11.0 2.4 1.4 100.0
olgd 200 68.9 17.8 9.3 3.6 4 100.0
g 304 63.9 22.2 1.1 1.6 1.2 100.0
400H 66.1 23.7 8.0 2.2 .0 100.0
50CH 64.0 18.0 12.0 4.0 2.0 100.0
BOKAI O] & 70.3 18.5 8.0 1.6 1.6 100.0
stz =ZZ0|6 70.9 16.3 10.5 1.2 1.2 100.0
= nkES 66.2 19.7 10.8 2.2 1.1 100.0
CHRH Ol & 67.7 22.2 6.7 2.8 6 100.0
JbE 1002+ 015 78.6 16.7 2.4 2.4 .0 100.0
%Lcj 1017~ 20002 67.7 22.9 6.0 2.5 1.0 100.0
T = 20174008t 67.1 20.6 9.7 1.9 6 100.0
- 401~ 5000+ 61.2 18.4 14.3 5.1 1.0 100.0
5012H2 0] & 65.4 19.2 1.5 .0 3.8 100.0
nog/Rsy 68.8 6.3 18.8 .0 6.3 100.0
e A2 60.5 19.5 16.4 3.6 .0 100.0
e orm/AD) 61.7 24.1 9.2 3.1 1.9 100.0
2 81.8 6.1 12.1 .0 .0 100.0
ha/s=/5 41.8 41.8 15.3 1.0 .0 100.0
Z=/FHE/HY 88.4 10.7 .0 9 .0 100.0
thr/zs 76.4 16.4 3.6 1.8 1.8 100.0
SASM/AY 75.9 15.1 6.0 1.8 1.2 100.0
M NE/E/BD 61.7 20.9 13.5 2.6 1.3 100.0
e e 71.6 14.9 11.9 1.5 .0 100.0
Ha/sY/5= 53.1 30.9 13.7 6 1.7 100.0
Z=/HY/ER 75.7 16.2 4.9 3.2 .0 100.0
tr/zs 71.9 19.2 6.2 2.1 7 100.0
SA/SM/AE 72.3 17.0 6.4 3.2 1.1 100.0
RZ=/01=/61 75.0 25.0 .0 .0 .0 100.0
nog/esy 100.0 .0 .0 .0 .0 100.0
1601 stUatY 0151& &8 67.1 20.4 9.3 1.7 1.4 100.0
e oz=g Los 58 70.2 17.3 9.0 2.9 5 100.0
W ozesg agz a9 65.0 22.5 10.0 2.5 0 100.0
TT O Jp e 41.4 51.7 3.4 3.4 .0 100.0
JIERTH 66.3 20.8 9.9 1.0 2.0 100.0
SO giYs 50.0 28.9 15.8 5.3 .0 100.0
noz/e2Y 75.9 17.2 6.9 .0 .0 100.0
XX g 68.9 18.0 9.7 3.4 .0 100.0
g siverg 62.8 24.3 10.0 1.7 1.3 100.0
olELEg 72.5 18.7 7.7 1.1 .0 100.0
olzg 64.9 24.3 10.8 .0 .0 100.0
Xtolg 26.7 60.0 6.7 6.7 .0 100.0
JIEH 66.7 11.1 22.2 .0 .0 100.0
XIXI= it 70.6 17.1 7.8 2.6 1.9 100.0
zgz/esY 72.7 9.1 18.2 .0 .0 100.0
og A 73.2 15.7 7.7 2.8 7 100.0
g2 == 66.3 20.4 9.5 3.0 8 100.0
= 24 63.1 24.4 10.2 1.2 1.2 100.0
pE/2sY 0 .0 100.0 .0 .0 100.0
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